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 ZmoQ> / NOTE : 
(i) कृपया जा�च कर ल� �क  स� �� �-प� म� म�ु�त प�ृ ठ 27 ह� ।    
 Please check that this question paper contains 27 printed pages. 

(ii) कृपया जा�च कर ल� �क  स� �� �-प� म� 34 �� � ह� &   
 Please check that this question paper contains 34 questions. 
(iii) �� �-प� म� दा�ह�े हाथ क� ओर �दए गए �� �-प� कोड को पर��ाथ� उ�र-प�ु�तका के मखु-प�ृ ठ पर �लख� ।  
 Q.P. Code given on the right hand side of the question paper should be written 

on the title page of the answer-book by the candidate. 
(iv) कृपया �� � का त�� �खन�ा ुर� क��� �े पलख�, त��-पर��िका म� �� � का �मा�क वश� य �खन� �  
 Please write down the serial number of the question in the 

answer-book before attempting it.  
(v) स� �� �-प� को प��े के �लए 15 �म�ट का �मय �दया गया है । �� �-प� का ��तरण प�ूा�� म� 10.15 बजे 

�कया जाएगा । 10.15 बजे �े 10.30 बजे तक छा� के�ल �� �-प� को प��गे और स� अ��ि के दौरा� �े 
उ�र-प�ु�तका पर कोई उ�र �ह� �लख�ग े।    

 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on the 
answer-book during this period. 

 व��ुा� �  
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न��ध���� समय : 3 घ� टे    अन�क�म अकं : 80 

Time allowed : 3 hours Maximum Marks : 80 
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सामा�‍य‍िर्�श : 

न�� �नखनत� न���श� को � यध�रव्�क रन�ए औ� उ�कध रधख� क�निए :  

(i) इस �� �-र� म� 34 �� � �� � सभ� �� � अिरवाय� �� �  
(ii) य� �� �-र� ्ो त� ड� म� नव�धनि� �� :  
 ख�‍ड‍क - समन� अ��शध� �   

 ख�‍ड‍ख- �ध��ीय आन��क नवकधस  
(iii) इस �� �-र� म� 20 ब��नवक� रीय �कध� के �� � �� � �� येक �� � 1 अकं कध �� �  
(iv) इस �� �-र� म� 4 खघ-ुउ��ीय �कध�-I के �� � �� � �� येक �� � 3 अकं� कध �� � इ� �� �� के उ��  

60 से 80 श� �� म� नखते िध�े चधन�ए �  

(v) इस �� �-र� म� 6 खघु-उ��ीय �कध�-II के �� � �� � �� येक �� � 4 अकं� कध �� � इ� �� �� के उ��  
80 से 100 श� �� म� नखते िध�े चधन�ए �   

(vi) इस �� �-र� म� 4 �ीघ�-उ��ीय �कध� के �� � �� � �� येक �� � 6 अकं� कध �� � इ� �� �� के उ��  
100 से 150 श� �� म� नखते िध�े चधन�ए � 

(vii) �� येक �� � के सभ� �धग� के उ�� एक सध� नखते िध�े चधन�ए �  
(viii) इसके अन���� �, � यध� �� नक �न�बधन�� र�ी�धन��य� के नखए �ोटो ��ध मध�नच�, आन� आ�ध��� �� �� के 

� �ध� र� एक अ� य �� � न�यध गयध �� � इ� �� �� के उ�� केवख �न�बधन�� र�ी�ध�� �ी नखत� �  
(ix) �� �-र� म� कोई सम� नवक� र ��� �� � य�नर, कुछ �� �� म� आ�ं��क नवक� र कध �धव�ध� न�यध गयध �� � 

इ� �� �� म� से केवख एक �ी �� � कध उ�� नखतध िधए �  

न� ड क$ 
ेम�� व��ुा� � 

1. ��� ��ल�खत कथ�� का � या�प�ू�क अ� यय� क��जए �   1 

क�� 1 : �क�� ��-�े�क अथ�� य�� था म� �कल रा� ��य उ� पाद (GNP) �कल घरेल ू उ� पाद 
(GDP) �े अ�िक हो �कता है । 

क�� 2 : �क�� ��-�े�क अथ�� य�� था म� ��दे�� �े �ा� त ���ल कारक आय ��ू य होत� है । 

�दए गए कथ�� के आलोक म�, ��� ��ल�खत म� �े �ह� ��क� प का चय� क��जए �  

(A) कथ� 1 �� य है और कथ� 2 अ�� य है ।  

(B) कथ� 1 अ�� य है और कथ� 2 �� य है । 

(C) कथ� 1 और 2 दो�� �� य ह� ।  

(D) कथ� 1 और 2 दो�� अ�� य ह� । 
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General Instructions :  
Read the following instructions carefully and follow them :  
(i) This question paper contains 34 questions. All questions are compulsory.  
(ii) This question paper contains two sections : 
 Section A – Macro Economics  
 Section B – Indian Economic Development   
(iii) This question paper contains 20 Multiple Choice type questions. Each question carries 

1 mark. 
(iv) This question paper contains 4 Short Answer Type-I questions. Each question carries  

3 marks. Answer these questions in 60 to 80 words.   
(v) This question paper contains 6 Short Answer Type-II questions. Each question carries 

4 marks. Answer these questions in 80 to 100 words. 
(vi) This question paper contains 4 Long Answer type questions. Each question carries  

6 marks. Answer these questions in 100 to 150 words. 
(vii) Attempt all parts of a question together. 
(viii) In addition to this, note that a separate question has been provided for Visually 

Impaired candidates in lieu of questions having visual inputs, map etc. Such questions 
are to be attempted by Visually Impaired candidates only. 

(ix) There is no overall choice in the question paper. However, an internal choice has been 
provided in few questions. Only one of the choices in such questions has to be 
attempted. 

SECTION A 
Macro Economics 

1. Read the following statements carefully :  1 

Statement 1  : Gross National Product (GNP) can be greater than Gross 
Domestic Product (GDP) in a two-sector economy. 

Statement 2 : Net factor income from abroad is zero in a two-sector economy. 

In the light of the given statements, choose the correct alternative from the 
following :   

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 
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2. अ� य �ी� कारक �मा� रह�े पर, _____________ के कारण �क�� रा� � के ीगुता� �ंतलु� म� 

� यापार अ�ि�े� उ� प� � हो �कता है ।  

             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) जापा� को कॉफ� के ��या�त म� ��ृ� 

(B) ब��कंग �े�ाओ ंके आयात म� कम� 

(C) अ�ाज के ��या�त म� कम� 

(D) ��द�े� को �े��त ि� म� ��ृ�  

3. मा� ल��जए �क, एक का� प��क अथ�� य�� था म�, के� ��य ब�क आर��त अ�पुात को 10% �े ब�ाकर 

25% कर देता है । �ारं�ीक जमा रा�� को ₹ 1,000 करो� पर �� थ र रखते ह�ए, म�ुा �जृ� क� कुल 

रा�� ₹ _________ करो� हो जाएग� । 

             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) 10,000 (B) 4,000 

(C) 6,000 (D) 5,000 

4. �क�� ���े� �मय �बंद ुपर ीगुता� के उ��े य �े ज�ता �ारा रख� ह�ई म�ुा क� कुल मा�ा ________ 

होत� है ।   

  (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए�  1 

(A) �ा��ि जमा  (B) म�ुा क� मा�ग  

(C) म�ुा आप�ूत�   (D) �ाख �जृ�  

5. _________ ����मय दर �णाल� के अतंग�त, �क�� रा� � के के� ��य ब�क � �रकार को ��द�े� म�ुा 

दर के ��िा�रण म� ह� त�ेप का कोई अ�िकार �ह� होता है ।   

  (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए�  1 

(A) ��थर (fixed) (B) �त रत� (floating) 

(C) �बं�ित �तरत�  (D) ��ण� मा�   
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2. Keeping all other factors constant, trade surplus may arise in the Balance of 

Payments of a nation because of ________.  

      (Choose the correct alternative to fill in the blank)  1 

(A) rise in export of coffee to Japan  

(B) fall in import of banking services 

(C) fall in exports of cereals 

(D) rise in remittances to abroad  

3. Suppose in a hypothetical economy, the Central Bank increases the reserve ratio 

from 10% to 25%. Keeping the amount of initial deposits constant at  

< 1,000 crore, the amount of total money creation would be < _______ crore.  

             (Choose the correct alternative to fill in the blank)  1 

(A) 10,000  (B) 4,000 

(C) 6,000  (D) 5,000   

4. ___________ is the total volume of money held by the public, for the purpose of 

disposing off, at a particular point of time.  

              (Choose the correct alternative to fill in the blank) 1 

(A) Term deposits  (B) Demand for money 

(C) Money supply (D) Credit creation   

5. Under _______ exchange rate system, the Central Bank and Government of the 

country do not have any authority to interfere in the exchange rate determination.  

      (Choose the correct alternative to fill in the blank)  1 

(A) fixed   (B) floating 

(C) managed floating (D) gold standard   
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6. ��� ��ल�खत कथ�� का � या�प�ू�क अ� यय� क��जए �   1 

क�� 1 : औ�त उपीोग ���ृ� (APC) कुल उपीोग म� �दए गए प�र�त�� के �ंबंि के कुल आय 
म� प�र�त�� को द�ा�त� है ।    

क�� 2 : जब आय म� प�र�त�� होता ह,ै तो उपीोग म� प�र�त�� (DC) की� ी� आय म� प�र�त�� 
(DY) �े अ�िक �ह� हो �कता है ।   

�दए गए कथ�� के आलोक म�, ��� ��ल�खत म� �े �ह� ��क� प का चय� क��जए �  
(A) कथ� 1 �� य है और कथ� 2 अ�� य है ।  
(B) कथ� 1 अ�� य है और कथ� 2 �� य है ।  
(C) कथ� 1 और 2 दो�� �� य ह� । 
(D) कथ� 1 और 2 दो�� अ�� य ह� । 

7. �क�� अथ�� य�� था म�, आय के लाी-अलाी (break-even) � तर का ��िा�रण _________ पर 

�कया जा �कता है ।   
(i) ��मांत उपीोग ���ृ� (MPC) = ��मांत बचत ���ृ� (MPS) 
(ii) आय (Y) = उपीोग (C) 
(iii) बचत (S) = 0 
(iv) औ�त उपीोग ���ृ� (APC) = औ�त बचत ���ृ� (APS) 

             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 
��क� प �  
(A) के�ल (i)  
(B) (i) और (ii) 
(C) (ii) और (iii)  
(D) (i) और (iv)  

8. एक का� प��क अथ�� य�� था के �लए यह �ात है �क �  

औ�त बचत ���ृ� (APS) = 0.4 
आय (Y) = ₹ 100 करो�  
� �ाय� उपीोग (C) = ₹ 10 करो�    
����े गणुक का म�ू य __________ होगा ।    

             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 
(A) 5 (B) 2 
(C) 4 (D) 10 
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6. Read the following statements carefully :  1 

Statement 1  : Average Propensity to Consume (APC) represents the change in 
total income with respect to a given change in total consumption. 

Statement 2 : When income changes, change in consumption (DC) can never 
exceed the change in income (DY). 

In the light of the given statements, choose the correct alternative from the 
following :   
(A) Statement 1 is true and Statement 2 is false. 
(B) Statement 1 is false and Statement 2 is true. 
(C) Both Statements 1 and 2 are true. 
(D) Both Statements 1 and 2 are false. 

7. In an economy, break-even level of income can be determined, when _______.  

(i) Marginal Propensity to Consume (MPC) = Marginal Propensity to Save (MPS)  
(ii) Income (Y) = Consumption (C) 
(iii) Savings (S) = 0 
(iv) Average Propensity to Consume (APC) = Average Propensity to Save (APS)  
           (Choose the correct alternative to fill in the blank) 1 
Alternatives : 
(A) Only (i)  
(B) (i) and (ii) 
(C) (ii) and (iii)  
(D) (i) and (iv) 

8. For a hypothetical economy, it is known that :  

Average Propensity to Save (APS)  = 0.4 
Income (Y)   =  < 100 crore 
Autonomous Consumption (C)   =  < 10 crore 
The value of investment multiplier would be __________. 
              (Choose the correct alternative to fill in the blank) 1 
(A) 5  (B) 2 
(C) 4  (D) 10 
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9. ीगुता� �ंतुल� का __________ खाता �े� ��� � (ROW) पर ����य दा�� म� ���ल प�र�त�� को 
द�ा�ता है ।  

             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) � यापार   (B) पू�ज�    

(C) चाल ू  (D) ��यमा� 

10. पहचा� क��जए, ��� ��ल �खत म� �े कौ�-�ा �� क� प उपीोग और �यो� य आय के ब�च आ�पुा�तक 
�ंबंि को द�ा�ता ह ै।   1 

(A) ��मांत उपीोग ���ृ� (MPC)/औ�त उपीोग ���ृ� (APC) 

(B) ��मांत उपीोग ���ृ� (MPC) < औ�त उपीोग ���ृ� (APC)  

(C) ��मांत उपीोग ���ृ� (MPC) = औ�त उपीोग ���ृ� (APC) 

(D) ��मांत उपीोग ���ृ� (MPC) = 1 

11. (क� “म�ुा अ�म�ू य� � म�ुा म�ू य�ा� के ���हताथ� (आ�य� �मा� ह�, पर� त ु� ेपथृक� -पथृक�  �ोत� 

�े उ� प� � होते ह� ।”  
  � या आप �दए गए कथ� �े �हमत ह� ? अप�े उ�र के �मथ�� म� �ैि कारण द��जए ।  3 

  व�शा 

 (ख� चाल ूखाते के घाटे का अथ� तथा स�के कम हो�े के प�छे के कारण� को रेखां�कत क��जए ।  3 

12. �दए गए आ�क�� के आिार पर, �ाि� लागत पर ��ु म�ू य ��ृ� (NVAFC) के म�ू य का अ�मुा�  

लगासए �   3 

�म सं. म��  �धनश (₹ क�ो� म�) 

(i) �ब��  2,000 

(ii) क� च ेमाल का �य  500 

(iii) � टॉक म� प�र�त�� 300 

(iv) �कल ���े�  500 

(v) ��ु अ�� य� कर  200 

(vi) ��ु ����े 300 
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9. The ___________ account of Balance of Payments reflects the net changes in 
financial claims on the Rest of the World (ROW). 
             (Choose the correct alternative to fill in the blank)  1 
(A) Trade  (B) Capital 
(C) Current (D) Visible 

10. Identify, which of the following options exhibits the proportional relation 
between consumption and disposable income.  1 

(A) Marginal Propensity to Consume (MPC)/Average Propensity to  
Consume (APC) 

(B) Marginal Propensity to Consume (MPC) < Average Propensity to 
Consume (APC) 

(C) Marginal Propensity to Consume (MPC) = Average Propensity to 
Consume (APC) 

(D) Marginal Propensity to Consume = 1 

11. (a) “Devaluation of currency and depreciation of currency have the same 
implications, but they originate from divergent sources.” 

  Do you agree with the given statement ? Give valid reason in support of 
your answer. 3 

   OR 
 (b) Outline the meaning and reasons behind narrowing down of Current 

Account Deficit. 3 

12. On the basis of the given data, estimate the value of Net Value Added at Factor 
Cost (NVAFC) : 3 

S. No. Items Amount (₹ in crore) 

(i) Sales 2,000 

(ii) Purchase of raw material  500 

(iii) Change in stock 300 

(iv) Gross Investment 500 

(v) Net Indirect Taxes  200 

(vi) Net Investment 300 
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13. (क� “जब �� या��त �म� मा�ग (AD) �� या��त �म� आप�ूत� (AS) �े अ�िक हो, तो 

प�रणाम� ��प अ�पे��त माल�चू� (Inventories) का �ं�ह होता ह ै।”  

  अप�े उ�र क� प�ु� के �लए �िै कारण दतेे ह�ए, �दए गए कथ� का �मथ�� अथ�ा खडं� 
क��जए । 4 

  व�शा 

 (ख� �क�� का� प��क अथ�� य�� था के �लए ��� ��ल�खत को मा��ए �    

  (i) � �ाय� उपीोग � यय (C) = ₹ 25 करो�   

  (ii) ��मांत बचत ���ृ� (MPS) =  0.1   

  (iii) आय का � तर (Y) = ₹ 2,000 करो�  

  (iv) � �ाय� ���े� (I) = ₹ 25 करो� 

  � या अथ�� य�� था �ंत�ुल त अ�� था म� है ? �िै गण�ाओ ं�ारा अप�े उ�र का औ�च� य ��� 
क��जए ।  4 

14. ��� ��ल�खत �च� का अ� यय� क��जए �  4 

 

 

 

 

 

 

 

 

 
(i) �ंके�तत ��थ�त क� पहचा� क��जए ।   

(ii) स� ��थ�त को �ह� कर�े के �लए ऐ�े �क� ह� दो कदम� क� � या� या क��जए जो �क RBI के 
�ारा उठाए जा �कते ह� ।   

  ीारत�य �र��� ब�क 

रेपो रेट म� ��ृ� 
 कर �कता ह ै

�रकार� ��ती�ूतय� 
को खलेु बा�ार म� 

���य कर �कता है 

�र��� रेपो रेट म� ��ृ� 
कर �कता ह ै
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13. (a� “When ex-ante Aggregate Demand (AD) is more than ex-ante Aggregate 
Supply (AS), it results in an accumulation of unintended inventories.” 

  Defend or refute the given statement, giving valid reasons in support of your 
answer. 4 

  OR 

 (b) Assume the following for a hypothetical economy :  

  (i) Autonomous Consumption Expenditure (C) = < 25 crore  

  (ii) Marginal Propensity to Save (MPS) = 0.1   

  (iii) Level of Income (Y) = < 2,000 crore  

  (iv) Autonomous Investment (I) = < 25 crore 

  Is the economy in equilibrium situation ? Justify your answer with valid 

calculations. 4 

14. Study the following image : 4 

  

 

 

 

 

 

 

 
  
 
 (i) Identify the indicated situation. 

 (ii) Explain any two steps which may be taken by RBI to correct the situation. 

Reserve Bank of 
India 

Increase Repo Rate 
Sell government 
securities in the 

open market  

Increase Reverse 
Repo Rate  
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15. “ीारत�य �र��� ब�क (RBI) �रकार के �लए �ह� काय� करता ह,ै जो �क �ा�ण��यक ब�क आम ज�ता 

के �लए करते ह� ।”  

 ीारत �रकार के �लए के���य ब�क �ारा �कए गए ऐ�े �क� ह� दो काय� क� �ं�ेप म� चचा� क��जए ।   4 

16. (क� कारक आय � ह� तांतरण आय म� अतंर � प� ट क��जए ।    3 

 (ख�  “बा�ताओ ंको �कारा�मक अथ�ा �कारा� मक �प म� �ग�कृत �कया जा �कता ह,ै पर� त ुयह 

आ�� यक �ह� ह ै�क �कल घरेल ूउ� पाद �े स�का ��िा �ंबि हो ।”  

  � या आप �दए गए कथ� �े �हमत ह� ? अप�े उ�र के �मथ�� म� �ैि कारण द��जए ।    3 

17. (क� (i) “के� ��य बजट 2023 – 24 म� ��ू म, लघ ु � म� यम उ�म (MSME) म�ंालय को  

₹ 22,138 करो� के आबंट� का �� ता� �कया गया था ।”  

   उ� उ�े� य क� पहचा� � � या� या क��जए, �ज�े �रकार �� ता��त � यय के �ाथ �ा� त 

कर�े का �या� कर रह� है ।  4 

  (ii) राजको��य घाटे � राज� � घाटे क� गण�ा कर� े के �लए �य�ु त ��ू� का उ� लेख 

क��जए ।  2 

 व�शा 

 (ख� (i) “कर राज� �, राज� � �ा��य� का एक मह��पणू� घटक ह ै तथा स�े दो �े�णय� म� 

�ग�कृत �कया जा �कता है ।” 

   मा� ल��जए �क आप ीारत �रकार के राज� � ��ीाग के �द� य ह� । कर� क� दो 

�े�णय� को पहचा��े ए� ंउ�के ब�च अतंर कर�े म� अप�े �म� क� �हायता क��जए । 3  

  (ii) “बजट के त�� �कार – घाटे का बजट, अ�ि�े� बजट � �ंत�ुलत बजट, हो �कते  

ह� ।”  

   � या आप �दए गए कथ� �े �हमत ह� ? अप�े उ�र के �मथ�� म� �ैि कारण द��जए ।  3 
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15. “The Reserve Bank of India (RBI) performs the same function for the 

government as the commercial banks perform for the general public.” 

 Discuss briefly any two such functions performed by the Central Bank for the 

Government of India. 4 

16. (a� Differentiate between factor income and transfer income.    3 

 (b) “Externalities can be classified into negative or positive, however it is not 

necessary that they will be directly correlated with the Gross Domestic 

Product.” 

  Do you agree with the given statement ? Give valid reasons in support of 

your answer. 3 

17. (a) (i) “The Union Budget 2023 – 24 had proposed an allocation of  

< 22,138 crore to the Micro, Small and Medium Enterprise (MSME) 

Ministry.” 

   Identify and explain the objective that the government is trying to 

achieve with the proposed expenditure. 4 

  (ii) State the formulae for calculating fiscal deficit and revenue deficit. 2 

   OR 

 (b) (i) “Tax revenues, an important component of revenue receipts, can be 

further classified into two categories.” 

   Imagine yourself as a member of Department of Revenue of the 

Government of India.  Help your friend to identify and differentiate 

between the two categories of taxes. 3 

  (ii) “A budget can be deficit, surplus or balanced.” 

   Do you agree with the given statement ? Give valid reasons in 

support of your answer. 3 
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न� ड न 

भा�िीय आ���क �श काे 

18. ___________ को कृ�� उ� पाद� �े ����ि�करण के �कै��पक �ोत के �प म� �ग�कृत �कया जा 

�कता है ।  
                                                     (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) ह�रत �ां�त       (B) बाग�ा��        

(C) ज�ै�क कृ��      (D) परंपरागत कृ��    

19. ��� ��ल�खत कथ�� को प��ए – अ�ीकथ� (A) और कारण (R) । ��चे �दए गए ��क� प� म� �े �ह� 

��क� प च�ु�ए �  1 

अन�क�� (A) : मा�� पू�ज� का बा�ार म� � यापार �ह� �कया जा �कता, जब�क स�क� �े�ाओ ंका 

� यापार �कया जा �कता है ।    
कध�ण (R) : मा�� पू�ज� अमतू� �कृ�त क� होत� ह ै।  

��क� प :  

(A) अ�ीकथ� (A) और कारण (R) दो�� �� य ह� और कारण (R), अ�ीकथ� (A) क� �ह� 

� या� या करता है ।  

(B) अ�ीकथ� (A) और कारण (R) दो�� �� य ह�, ले�क� कारण (R), अ�ीकथ� (A) क� �ह� 
� या� या रह� करता है । 

(C) अ�ीकथ� (A)  �� य ह,ै ले�क� कारण (R) अ�� य है ।  

(D) अ�ीकथ� (A)  अ�� य ह,ै ले�क� कारण (R) �� य है । 

20. च�� म� लाग ू �कए गए ___________ उपाय �े ज��ं� या के �ाथ-�ाथ �लंगा�पुात म� ी� �गरा�ट 

आई थ� ।  
                                                     (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) पू�ज�गत �� तओु ंके रा� ��यकरण (Nationalisation)     

(B) पू�ज�गत �� तओु ंके ��रा� ��यकरण (Denationalisation)  

(C) एकल-�ंता� ���त    

(D) ��-�ंता� ���त 
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SECTION B 
Indian Economic Development 

18. _________ can be classified as one of the alternative sources of diversification 

from farm output.                    
                                                (Choose the correct alternative to fill in the blank) 1 

 (A) Green Revolution  (B) Horticulture 

 (C) Organic Farming (D) Conventional Farming 

19. Read the following statements – Assertion (A) and Reason (R). Choose the 

correct alternative given below :  1 

Assertion (A) : Human capital cannot be traded in the market, whereas its 

services can be traded. 

Reason (R) : Human capital is intangible in nature. 

Alternatives :  

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true.  

20. __________ measure introduced in China led to the decline in its population as 

well as sex ratio.                    
                                                (Choose the correct alternative to fill in the blank) 1 

 (A) Nationalisation of capital goods 

 (B) Denationalisation of capital goods 

 (C) One-child norm 
 (D) Two-child norm 
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21. ीारत, च�� � पा�क� ता� म� �े _____________ ीौगो�लक ��� �े �ब�े ब�ा रा�� है, तथा स� 

त�� रा� �� म� स�का घ�� � �ब�े ___________ है ।      

           (�र� त � था�� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) च��, अ�िक      (B) पा�क� ता�, कम       

(C) ीारत, कम     (D) च��, कम    

22. ��� ��ल�खत कथ�� का � या�प�ू�क अ� यय� क��जए �  1 

क�� 1 : औप����े�क �रकार �ारा ीारत�य कृ�� का � य��ाय�करण बलप�ू�क/दम�कार� �प म� 

�ारंी �कया गया था ।    

क�� 2 : खा� ��ल� के उ� पाद� को लाग ूकर�े के प�छे अ�ंे�� के दोहरे उ�े� य थे ।    

�दए गए कथ�� के आलोक म�, ��� ��ल�खत म� �े �ह� ��क� प का चय� क��जए �  

(A) कथ� 1 �� य है और कथ� 2 अ�� य है । 

(B) कथ� 1 अ�� य है और कथ� 2 �� य है । 

(C) कथ� 1 और 2 दो�� �� य ह� । 

(D) कथ� 1 और 2 दो�� अ�� य ह� । 

23. 1965 म�, माओ �े __________ का �ारंी �कया, �ज�के अतंग�त छा�� � पे��ेर� को �ाम�ण �े�� 

म� काम कर�े तथा ��ख�े के �लए ीेजा गया था ।   

                                                     (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) �ेट ल�प फॉर�ड� अ�ीया�    

(B) क� य�ू �णाल�   

(C) महा� ���हारा �ां� कृ�तक �ां�त   

(D) म� यका�लक ��का� योज�ा   
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21. ___________ is geographically the largest nation among India, China and 

Pakistan and its density is _______ among the three nations. 

              (Choose the correct alternative to fill in the blanks) 1 

 (A) China, highest  (B) Pakistan, lowest 

 (C) India, lowest (D) China, lowest 

22. Read the following statements carefully :  1 

Statement 1  : The commercialisation of Indian agriculture was coercively 

introduced by the colonial government. 

Statement 2 : Britishers had a two-fold motive behind the enforcement of food 

crops production. 

In the light of the given statements, choose the correct alternative from the 

following :   

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

23. In 1965, Mao introduced the ____________ under which students and 

professionals were sent to work and learn from the countryside. 

          (Choose the correct alternative to fill in the blank)  1 

 (A) Great Leap Forward Campaign 

 (B) Commune System 

 (C) Great Proletarian Cultural Revolution 

 (D) Medium Term Development Plan 
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24. अ�ंे�� �े ीारत के आयात-��या�त पर एका�िकार� ��यं�ण ब�ाए रखा था, जब�क कुछ अ� य दे�� जै�े 

�क ____________ के �ाथ �े� क� अ�ुम�त थ� ।    
             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(i) च��    
(ii) ��लो� (�� लंका�   
(iii) प���या (ईरा��   

��क� प �  

(A) के�ल (i) (B) (i) और (ii) 

(C) (ii) और (iii) (D) (i), (ii) और (iii)  

25. उ� �ैक��पक ��पण� चै�ल क� पहचा� क��जए जो, म�ु यत� पंजाब, ह�रयाणा � राज� था� म�   

�ंचा�लत होते ह� ।                                                  (�ह� ��क� प का चय� क��जए� 1 

(A) अप�� मडं�     

(B) ह�प�ार मडं�    

(C) रायथ ूबा�ार    

(D) उझा�र �ंिाई  

26. ��� ��ल�खत म� �े �ह� कथ� क� पहचा� क��जए :  1 

(A) � �तं�ता उपरांत, ीारत �े �माज�ाद� अथ�� य�� था अप�ाई थ� ।  

(B) ीारत�य आ�थ�क ��योज� को पंच���य योज�ाओ ंके मा� यम �े लाग ू�कया गया था ।  

(C) ीारत �रकार �ारा औ�ो�गक �े� के अतंग�त ी�ूम �िुार� को लाग ू�कया गया था ।   

(D) ीारत म� �कल घरेल ूउ� पाद (GDP) म� �गरा�ट के �लए औ�ो�गक �े� म� ���तगत पहल 
��� मेदार थ े।  

27. 1978 म� च�� म� �ारंी �कए गए आ�थ�क �िुार� के अंतग�त, ��दे�� ���े�क� को आक���त कर�े के 

�लए  ____________ क� � थाप�ा क� गई थ� ।    

             (�र� त � था� को ीर�े के �लए �ह� ��क� प का चय� क��जए� 1 

(A) �े�ण ��े�     (B) ी�ूम �े�� 

(C) ���े� क� य�ू �े��   (D) ���े� आ�थ�क �े�� 



    

58/S/3  Page 19 P.T.O.   

24. Britain maintained a monopoly control over India’s exports and imports while 
the rest was allowed with a few other countries like __________ . 
          (Choose the correct alternative to fill in the blank)  1 

 (i) China 
 (ii) Ceylon (Sri Lanka) 
 (iii) Persia (Iran) 
 Alternatives : 

(A) Only (i) (B) (i) and (ii) 

(C) (ii) and (iii) (D) (i), (ii) and (iii) 

25. Identify the alternate marketing channel that operates majorly in Punjab, 
Haryana and Rajasthan.                                       (Choose the correct alternative) 1 

 (A) Apni Mandi 

 (B) Hadapsar Mandi 

 (C) Rythu Bazars 

 (D) Uzhavar Sandies 

26. Identify the correct statement from the following :  1 

 (A) India adopted the socialistic economic system after Independence. 

 (B) Indian economic planning was implemented through Five Year Plans. 

 (C) Land reforms under industrial sector were implemented by the Government 
of India. 

 (D) Policy initiatives in the industrial sector were responsible for decline in 
Gross Domestic Product (GDP) in India. 

27. Under the economic reforms introduced in China in 1978, ______ were set up to 

attract foreign investors.  

               (Choose the correct alternative to fill in the blank) 1 

 (A) Remittance Zones (B) Land Zones 

 (C) Special Commune Zones (D) Special Economic Zones 
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28. (क) ‘‘ह�रत �ां�त �े ीारत को खा�ा�� म� आ� म��ी�र ब�ा �दया ह,ै पर� त ु पा�र��थ�तक 
(ecological) आिार पर स�क� आलोच�ा क� गई है ।’’  

  � या आप �दए गए कथ� �े �हमत ह� ? अप�े उ�र के �मथ�� म� �िै कारण �� ततु क��जए ।   3 

 व�शा  
(ख) ीारत म� औप���े��क �रकार �ारा ��क��त क� गई आिारीतू-�ंरच�ा क� �क�ह� त�� 

ग�त���िय� का उ� लखे क��जए ।     3 

29. �दए गए �च� म� द�ा�ई गई प�र��थ�त क� पहचा� क��जए तथा स� �म� या पर ��यं�ण पा�े के �लए 

�क�� एक �ीा�� रण���त क� � या� या क��जए ।  3 

 

 
 
रोट‍: न�� �नखनत� �� � केवख �ि�‍ट‍�ाित ‍�ी��ाि��य� के नखए �� � सं� यध 29‍के � �ध� र� �� � 

��ै� � क उ�णता क� �म� या पर �ीा�� ढंग �े �� यं�ण पा�े के �लए �क�� एक रण���त क� � या� या 

क��जए ।  3 

ह�रतगहृ  
गै� 

�त�मा� रा� ��य योज�ाओ ं 
के आिार पर �द� के अंत  
तक �ै��क तापमा� म� ��ृ� 
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28. (a) “Green Revolution made India self-sufficient in food grains, but was 

criticized on ecological grounds.”  
  Do you agree with the given statement ? Present valid reasons in support of 

your answer. 3 

   OR 
 (b) Enumerate any three infrastructural development activities undertaken by 

the colonial government in India. 3 

29. Identify the situation depicted in the given figure and explain any one strategy 
to effectively overcome the problem. 3 

 
 

Note :  The following question is for the Visually Impaired Candidates only in lieu of  
Q. No. 29. 

Explain any one strategy to effectively overcome the problem of global warming. 3 

Rise in global  
temperature by the end  
of the century based on  
current national plans 

Greenhouse 
Gases 
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30. (क) “एक ��ु� कृ�� ��पण� �णाल� �क�� ी� रा� � क� कृ��-�णाल� के �लए र�� क� हड�ड� का 

काम करत� है ।”  

  स� �द�ा म� ीारत �रकार �ारा उठाए गए �क� ह� दो कदम� को �चू�ब� कर उपयु�� त कथ� का 

औ�च�य ��� क��जए । 4 

 व�शा 

 (ख) “��गत कुछ ��� म�, ीारत म� परंपरागत कृ�� �े �ाकृ�तक/जै��क कृ�� क� ओर � था�ांतरण 

देखा गया है ।”  

  जै��क उ� पाद� क� ओर स� � था�ांतरण के प�छे के �क� ह� दो कारण� क� �ं��� त चचा� 

क��जए ।  4 

31. “ीारत म� ���ा के ���ी� � � तर� पर � यय �मा� अ�पुात म� होता ह ै।”     

 �िै कारण बताते ह�ए �दए गए कथ� का �मथ�� अथ�ा खडं� क��जए ।   4 

32. ��� ��ल�खत आ�क�� के आिार पर, च�� � पा�क� ता� के �लए रो�गार � उ� पाद� म� प�र�त�� क� 

�परेखा �� ततु कर चचा� क��जए �    4 

�ो�गा� औ� GVA का ���ीय �ल�ेा 2018 – 2019 म� (%)  
नव�धग GVA को योगदा� काय�बल का ��तरण 

�ध��  ची� रधनक��ध� �ध�� ची� रधनक��ध� 

कृ�� 16 7 24 43 26 41 

उ�ोग 30 41 19 25 28 24 

�े�ाए�  54 52 57 32 46 35 

कर ख 100 100 100 100 100 100 

 �ोि : मध�व नवकधस ��रोट� 2019 : एनशयध औ� �शधं� 2019 के �मतु संके�क �  
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30. (a) “A sound agricultural marketing system works as the backbone of any 

agro-system of any nation.” 

  Justify the above statement by listing any two steps taken by the Indian 

government in this direction. 4 

   OR 

 (b) ‘‘Over the past few years, India has witnessed a shift from traditional 

conventional farming to natural/organic farming.’’  

  Discuss briefly any two reasons behind this shift towards organic produce. 4 

31. “Expenditure on different levels of education in India is in the same 

proportion.” 

 Defend or refute the given statement, giving valid reasons. 4 

32. On the basis of the data given below, outline and discuss the shift in employment 

and output for China and Pakistan : 4 

Sectoral Share of Employment and GVA (%) in 2018 – 2019 

Sector Contribution to GVA Distribution of workforce 

India China Pakistan India China Pakistan 

Agriculture 16 7 24 43 26 41 

Industry 30 41 19 25 28 24 

Services 54 52 57 32 46 35 

Total 100 100 100 100 100 100 

Source : Human Development Report 2019 : Key Indicators of Asia and 

Pacific 2019.   
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33. ��� ��ल�खत ग� का � या�प�ू�क अ� यय� क��जए :   

  जलुाई 1991 के बजट के �ाथ रा� � को एक बा�-उ� मखु बा�ार-आिा�रत अथ�� य�� था क� 

ओर अ��र कर�े के प� म� एक � प� ट प�र�त�� आया था । बजट म� �ारंी �कए गए � यापा�रक 

उदार�करण के कदम बह�त � यापक थ,े हाला��क स�क� ग�त ि�म� रह� तथा उ�म� की�-की� �का�ट� ी� 

आत� रह� थ� ।  

  1991 के �िुार� �े कुछ म� य�त� आयात� � पू�ज�गत �� तओु ंको छो�कर �ी� �� तओु ं पर 

आयात लास��� को �मा� त कर �दया था ।  

  उपीो� ता �� तुए�, जो �क आयात ��ुक �ं�ह का 30% ह�, लास��� के अतंग�त रहत� ह� । मा� 

एक द�क उपरांत, ��� � � यापार �ंगठ� (WTO)  म� ीारत के � यापा�रक �ाझेदार� �ारा एक �फल 

च�ुौत� के प� चात� स� �� तुओ ंको ी� लास��� �े म�ु त कर �दया गया था ।  

  �त�मा� म�, पया��रण/� �ा� �य/�रु�ा के आिार पर अ� ��कृत कुछ �� तओु ंको छो�कर, �ी� 

�� तओु ंको �ब�ा लास��� या अ� य ��तबंि� के आयात �कया जा �कता ह ै।   

   लास��� हटा�े के �ाथ, ये आयात ��ु क दर� आयात पर �ीा�� ��तबंि ब� गई ंथ� । स��लए, 

आ�थ�क �िुार� का एक �मखु काय� आयात ��ु क दर� को कम कर�ा रहा ह ै। आयात ��ु क म� कटौत� 

म�ु य �प �े �ैर-कृ��, औ�ो�गक �� तओु ंतक ह� ���मत ह ै।  

  स��लए, उदार�करण स� �� तुओ ंपर कठोरता �े लाग ूहोता ह ै। आयात ��ु क म� कम� ��ु क दर� 

म� ��मक �गरा�ट के मा� यम �े �ा� त क� गई ह ै। आयात ��ु क ब�ड क� �ं� या म� कम� के मा� यम �े 

आयात ��ु क �ंरच�ा के एक �ाथ य�ु�करण �े स� �द�ा म� �हायता क� थ� ।     

�दए गए ग� � �ामा� य �ा� के आिार पर �� � ��ल �खत �� �� के उ�र द��जए � 

(i) ‘‘1991 के बजट म� �ारंी �कए गए उदार�करण �िुार अ� यंत � यापक थे ।’’                   

1991 के � यापा�रक �िुार� म� �े �क�ह� दो � यापार �िुार� क� � या� या करते ह�ए �दए गए 

कथ� का औ�च� य ��� क��जए ।    4 

(ii) ऐ�े �क� ह� दो �े�� का उ� लखे क��जए �ज�म� आयात ��ु क म� कटौत� क� गई थ� । 2 
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33. Read the following text carefully : 

  With the July 1991 budget, there was a clear switch in favour of a move 
towards an outward-oriented, market-based economy. The liberalisation steps 
initiated in the budget were very comprehensive although the pace remained 
gradual and there were occasional hiccups.  

  The 1991 reforms did away with import licensing on all but a handful of  
intermediate inputs and capital goods.  

  Consumer goods, accounting for approximately 30% of tariff lines, 
remained under licensing, Only a decade later, after a successful challenge by 
India’s trading partners at the World Trade Organisation  (WTO), were these 
goods freed of licensing. 

  Today, except for a handful of goods that are disallowed on 
environmental/health/safety grounds, all goods may be imported without a license 
or other restrictions. 

  With the removal of licensing, the tariff rates became effective restrictions 
on imports. Therefore, a major task of the reforms has been to lower the tariff 
rates. Tariff reductions have been mainly confined to non-agricultural, industrial 
goods. 

  Therefore, the liberalization applies strictly to these goods. The reduction in 
tariffs has been achieved through a gradual compression of the tariff rates. A 
simultaneous rationalization of the tariff structure through a reduction in the 
number of tariff bands helped in this direction.   

 On the basis of the given text and common understanding, answer the following 

questions :  

  (i) “The trade liberalization reforms initiated in 1991 budget were very 

comprehensive.” 

  Justify the given statement explaining any two trade reforms introduced in 
1991. 4 

 (ii) State any two areas in which tariff reductions were introduced. 2 
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34. (क) (i) “जै�े-जै�े कोई अथ�� य�� था ��क��त होत� ह,ै �ै�े-�ै�े अथ�� य�� था म� ��यो�जत 

� य��य� क� �ं� या म� ी� ��ृ� होत� ह;ै �फर ी� 1991 के बाद �े ीारत स�के अप�ाद 

के �प म� उीर कर �ाम�े आया है ।”  

   � या आप �दए गए कथ� �े �हमत ह� ? अप�े उ�र के प� म� �िै तक�  �� ततु क��जए ।   4 

  (ii) उपय�ु त उदाहरण �ारा �� छ� � बेरो�गार� क� प�रीा�ा द��जए ।  2 

 व�शा 

(ख) (i) “�ेहा एक बह�रा� ��य क� प�� म� �पछले पा�च ��� �े ��य�मत �प �े काय�रत है ।”   

  उपयु�� कथ� म� द�ा�ए गए रो�गार के �कार क� पहचा� कर �ं�ेप म� � या� या क��जए ।  3 

  (ii) उ� �ंकेतक का �ाम बतासए, �ज�का �क�� रा� � म� रो�गार क� ��थ�त का ��� ले�ण 

कर�े म� �ामा�यत: उपयोग �कया जाता है । स�के मह�� क� ी� चचा� क��जए ।  3 
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34. (a) (i) “As an economy grows, the number of employed persons in an 

economy also increases; however, since 1991 India has come up as an 

exception to this.’’  

   Do you agree with the given statement ? Give valid arguments in 

support of your answer. 4 

  (ii) Define disguised unemployment with a suitable example. 2 

 OR 

(b) (i) “Neha has been working in a multinational corporation since the past 

five years on the payroll of the company”. 

  Identify and briefly explain the type of employment indicated in the 

above statement.   3  

  (ii) Name the indicator that is generally used for analysing the 

employment situation in a country. Also discuss its importance. 3 
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Marking Scheme (Hindi Medium) 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination (Supplementary), July 2024 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/S/3) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Guidelines). 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:- Giving more marks for an answer than assigned to it. 

● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Leaving answer or part thereof unassessed in an answer book. 
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totaled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना 

Senior School Certificate Examination (Supplementary), July 2024 

अर्थशास्त्र ( विषय कोड – 030) 

[Paper Code: 58/S/3] 

अविकतम अंक : 80 

प्र.सं. अपेवित उत्तर/मूल्य व ंदु अंक 

खण्ड  क 

समवि अर्थशास्त्र 

1. निम्ननिखित कथि ों का ध्यािपूर्वक अध्ययि कीनिए: 

कथि 1 : नकसी नि-के्षत्रक अथवव्यर्स्था में सकि राष्ट्र ीय उत्पाद (GNP) सकि घरेिू उत्पाद (GDP) से    अनिक 

ह  सकता है। 

कथि 2 : नकसी नि-के्षत्रक अथवव्यर्स्था में नर्देश ों से प्राप्त निर्ि कारक आय शून्य ह ती है।  

नदए गए कथि ों के आि क में, निम्ननिखित में से सही नर्कल्प का चयि कीनिए:  

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 द ि ों सत्य हैं। 

(D) कथि 1 और 2 द ि ों असत्य हैं। 

उत्तर. (B) कथन 1 असत्य है और कथन 2 सत्य है। 

 

 

 

 

 

 

 

 

 

1 

2. अन्य सभी कारक समाि रहिे पर, _________ के कारण नकसी राष्ट्र  के भुगताि सोंतुिि में व्यापार अनिशेष 

उत्पन्न ह  सकता है।                       (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) िापाि क  कॉफी के नियावत में रृ्खि 

(B) बैंनकों ग सेर्ाओों के आपात में कमी 

(C) अिाि के नियावत में कमी 

(D) नर्देश ों क  पे्रनषत िि में रृ्खि 

उत्तर. (A) जापान को कॉफी के ननर्ाात में वृद्धि 

 

 

 

 

 

 

1 

3. माि िीनिए नक, एक काल्पनिक अथवव्यर्स्था में, केन्द्रीय बैंक आरनक्षत अिुपात क  10% से बढाकर 25% कर 

देता है। प्रारों नभक िमा रानश क  ₹ 1,000 कर ड़ पर खस्थर रिते हुए, मुद्रा सृिि की कुि रानश ₹_________कर ड़ 

ह  िाएगी।                     (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) 10,000      (B) 4,000 

(C) 6,000      (D) 5,000 

उत्तर. (B) 4,000 

 

 

 

 

 

1 

4. नकसी नर्शेष समय नबोंदु पर भुगताि के उदे्दश्य से ििता िारा रिी हुई मुद्रा की कुि मात्रा _________ ह ती है।                                                            

(ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) सार्नि िमा      (B) मुद्रा की मााँग 

(C) मुद्रा आपूनतव      (D) साि सृिि 

उत्तर. (C) मुद्रा आपूनता 
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5. __________नर्निमय दर प्रणािी के अोंतगवत, नकसी राष्ट्र  के केन्द्रीय बैंक र् सरकार क  नर्देशी मुद्रा दर के 

नििावरण में हस्तके्षप का क ई अनिकार िही ों ह ता है। 

(ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) खस्थर (fixed)      (B) नतरती (floating) 

(C) प्रबोंनित नतरती     (D) स्वणव माि 

उत्तर. (B) नतरती (floating) 

 

 

 

 

 

1 

6. निम्ननिखित कथि ों का ध्यािपूर्वक अध्ययि कीनिए: 

कथि 1 : औसत उपभ ग प्ररृ्नि (APC) कुि उपभ ग में नदए गए पररर्तवि के सोंबोंि के कुि आय में पररर्तवि 

क  दशावती है। 

कथि 2 : िब आय में पररर्तवि ह ता है, त  उपभ ग में पररर्तवि (∆C) कभी भी आय में पररर्तवि (∆Y) से अनिक 

िही ों ह  सकता है। 

नदए गए कथि ों के आि क में, निम्ननिखित में से सही नर्कल्प का चयि कीनिए: 
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(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 द ि ों सत्य हैं। 

(D) कथि 1 और 2 द ि ों असत्य हैं। 

उत्तर. (B) कथन । असत्य है और कथन 2 सत्य है। 

 

 

 

 

1 

7. नकसी अथवव्यर्स्था में, आय के िाभ-अिाभ (break-even) स्तर का नििावरण ________पर नकया िा सकता है। 

(i) सीमाोंत उपभ ग प्ररृ्नि (MPC) = सीमाोंत बचत प्ररृ्नि (MPS) 

(ii) आय (Y) = उपभ ग (C) 

(ⅲ) बचत (S) = 0 

(iv) औसत उपभ ग प्ररृ्नि (APC) = औसत बचत प्ररृ्नि (APS) 

 (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए)  

नर्कल्प: 

(A) केर्ि (i) 

(B) (i) और (ii) 

(C) (ii) और (ⅲ) 

(D) (i) और (iv) 

उत्तर. (C) (ii) और (ⅲ) 
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8. एक काल्पनिक अथवव्यर्स्था के निए यह ज्ञात है नक : 

औसत बचत प्ररृ्नि (APS)  =   0.4 

आय (Y) =   ₹100 कर ड़ 

स्वायि उपभ ग (𝐶̅) =   ₹10 कर ड़ 

निरे्श गुणक का मूल्य________ ह गा।       (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) 5       (B) 2 

(C) 4       (D) 10 

उत्तर. (B) 2 
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9. भुगताि सोंतुिि का ________ िाता शेष नर्श्व (ROW) पर नर्िीय दार् ों में निर्ि पररर्तवि क  दशावता है।                     

(ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए ) 

(A) व्यापार      (B) पूाँिी 

(C) चािू       (D) दृश्यमाि  

उत्तर. (B) पूूँजी 
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10. पहचाि कीनिए, निम्ननिखित में से कौि-सा नर्कल्प उपभ ग और प्रय ज्य आप के बीच आिुपानतक सोंबोंि क  

दशावता है। 

(A) सीमाोंत उपभ ग प्ररृ्नि (MPC)/औसत उपभ ग प्ररृ्नि (APC) 

(B) सीमाोंत उपभ ग प्ररृ्नि (MPC) < औसत उपभ ग प्ररृ्नि (APC) 

(C) सीमाोंत उपभ ग प्ररृ्नि (MPC) = औसत उपभ ग प्ररृ्नि (APC) 

(D) सीमाोंत उपभ ग प्ररृ्नि (MPC) = 1 

उत्तर. (C) सीमाांत उपभोग प्रवृनत्त (MPC) = औसत उपभोग प्रवृनत्त (APC) 
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11. 

(क) 
 

 

 

 

 

 

 

 

(ख) 

“मुद्रा अर्मूल्यि र् मुद्रा मूल्यह्रास के निनहताथव (आशय) समाि हैं, परनु्त रे् पृथक्-पृथक् स्र त ों से उत्पन्न ह ते 

हैं।" 

क्या आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में रै्ि कारण दीनिए। 

उत्तर. हाां, मुद्रा अवमूल्यन व मुद्रा मूल्यह्रास से नवदेशी मुद्रा के सन्दभा में घरेलू मुद्रा के मूल्य में नगरावट 

आ सकती है। इसके पररणामस्वरूप ननर्ाात/आर्ात में वृद्धि/कमी हो सकती है, क्ोांनक घरेलू/नवदेशी 

वसु्तएूँ  अपेक्षाकृत सस्ती/महांगी हो जाती हैं।  

अतः , मुद्रा अवमूल्यन व मुद्रा मूल्यह्रास दोनो ां के नननहताथा समान हैं। र्द्यनप, मुद्रा अवमूल्यन सरकार 

द्वारा की गई कार्ावाही के कारण होता है, मुद्रा मूल्यह्रास माांग और पूनता की बाजार शद्धिर्ोां के कारण 

होता है।                   (पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

अथवा 

चािू िाते के घाटे का अथव तथा इसके कम ह िे के पीछे के कारण ों क  रेिाोंनकत कीनिए। 

 

 

 

 

 

3 
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उत्तर. चालू खाता घाटा (CAD) तब उत्पन्न होता है, जब वसु्तओां और सेवाओां के ननर्ाात तथा एकपक्षीर् 

हस्ताांतरण से प्राद्धिर्ाूँ वसु्तओां और सेवाओां के आर्ात और एकपक्षीर् हस्ताांतरण के भुगतान से कम 

होती हैं।  

चालू खाता घाटा तब कम हो सकता है, जब वसु्तओां और सेवाओां के ननर्ाात और एकपक्षीर् हस्ताांतरण 

से प्राद्धिर्ोां में वृद्धि हो अथवा वसु्तओां और सेवाओां के आर्ात और एकपक्षीर् हस्ताांतरण के नलए भुगतान 

में कमी हो ।                             

1 

 

 

2 

 

  3 

12. 

  

 

नदए गए आोंकड़ ों के आिार पर, सािि िागत पर शुि मूल्य रृ्खि (NVAFC) के मूल्य का अिुमाि िगाइए: 

क्रम 

सों. 

मदे रानश (₹ कर ड़ 

में) 

(i) नबक्री 2,000 

(ii) कचे्च माि का क्रय  500 

(iii) स्टॉक में पररर्तवि 300 

(iv) सकि निरे्श 500 

(v) शुि अप्रत्यक्ष कर  200 

(vi) शुि निरे्श 300 

उत्तर.  

साधन लागत पर शुि मूल्य वृद्धि (NVAFC) = (i) + (iii) - (ii) –[(iv) – (vi)] – (v) 

                                                              = 2000 + 300 - 500 – [500 – 300] – 200 

                                                               = ₹ 1,400 करोड़   

 

 

 

 

 

 

 

 

 

 

 

1 ½  

1 

½  

  3 

13. 

(क) 
"िब प्रत्यानशत समग्र मााँग (AD) प्रत्यानशत समग्र आपूनतव (AS) से अनिक ह , त  पररणामस्वरूप अिपेनक्षत 

मािसूची (Inventories) का सोंग्रह ह ता है।" 

अपिे उिर की पुनष्ट् के निए रै्ि कारण देते हुए, नदए गए कथि का समथवि अथर्ा िोंडि कीनिए। 

उत्तर. नदए गए कथन का खांडन नकर्ा जाता है। 

जब प्रत्यानशत समग्र माांग, प्रत्यानशत समग्र पूनता से अनधक होती है, तो इसका अथा है नक गृहस्थ और 

फमों द्वारा प्रत्यानशत क्रर्, फमों की अपेक्षा से अनधक होता है। पररणामस्वरूप, उत्पादकोां के पास 

मालसूची घट जाती है, नजससे मालसूची में अनपेनक्षत कमी हो जाएगी।  

(पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

अथवा 

 

 

 

 

4 

(ख) नकसी काल्पनिक अथवव्यर्स्था के निए निम्ननिखित क  मानिए : 

(i) स्वायि उपभ ग व्यय (𝐶̅) = ₹25 कर ड़ 

(ii) सीमाोंत बचत प्ररृ्नि (MPS) = 0.1 

(iii) आय का स्तर (Y) = ₹ 2,000 कर ड़ 

(iv) स्वायि निरे्श (I) = ₹25 कर ड़ 

क्या अथवव्यर्स्था सोंतुनित अर्स्था में है? रै्ि गणिाओों िारा अपिे उिर का औनचत्य नसि कीनिए। 

उत्तर. नदर्ा गर्ा है, स्वार्त्त उपभोग व्यर् ( 𝐂) = ₹ 25 करोड़ 

सीमाांत बचत प्रवृनत्त (MPS) = 0.1 

आर् का स्तर (Y) = ₹ 2,000 करोड़ 

स्वार्त्त ननवेश (I) = ₹ 25 करोड़ 

सीमाांत उपभोग प्रवृनत्त (MPC) = 1 – MPS 

 1-0.1 = 0.9 

आर् के सांतुलन स्तर पर, Y= C + I 

(C+I) में Y का मान प्रनतस्थानपत करने पर  

   C + I     = �̅� + (MPC)Y + I 

        = 25 + 0.9 x 2,000 + 25  

         = 1,850 करोड़ 

₹ 2,000 करोड़ के आर् स्तर पर Y> C + I  है l 

अतः , ₹2,000 करोड़ के आर् स्तर पर अथाव्यवस्था सांतुलन में नही ां है । 

 

 

 

 

 

 

 

 

 

 

 

 

 

1  

 

1 

½  

½ 

½  

½  
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वैकद्धिक उत्तर: 

आर् के सांतुलन स्तर पर, S= I 

S में Y का मान प्रनतस्थानपत करने पर 

                  S = -�̅� + (MPS)Y 

                  = -25 + 0.1 x 2000 

                  = 175 करोड़ 

            2,000 करोड़ के आर् स्तर पर S > I. 

अतः , 2,000 करोड़ के आर् स्तर पर अथाव्यवस्था सांतुलन में नही ां है। 

 

1  

 

1 

½  

½  

½  

½  

  4 

14. निम्ननिखित नचत्र का अध्ययि कीनिए: 

 

 

 

 

 

 

 

 

 

 

(i) सोंकेनतत खस्थनत की पहचाि कीनिए। 

(ii) इस खस्थनत क  सही करिे के निए ऐसे नकन्ी ों द  कदम ों की व्याख्या कीनिए ि  नक RBI के िारा उठाए िा 

सकते हैं। 

उत्तर. 

(i) उपरोि नचत्र मुद्रास्फीनत की द्धस्थनत को दशााता है। 

(ii) इस द्धस्थनत को सही करने के नलए भारतीर् ररजवा बैंक (RBI) द्वारा उठाए गए दो कदम ननम्ननलद्धखत 

हो सकते हैं: 

•  RBI द्वारा खुले बाजार में सरकारी प्रनतभूनतर्ो ां की नबक्री से वानणद्धिक बैंको ां के पास धन की 

उपलब्धता में कमी आती है, नजससे उनकी ऋण देने की क्षमता कम हो जाती है। पररणामस्वरूप, 

अथाव्यवस्था में मुद्रा आपूनता कम हो सकती है। इससे समग्र माांग कम होती है, फलस्वरूप 

मुद्रास्फीनत ननर्ांनत्रत की जा सकती है। 

• RBI द्वारा बैंक दर में वृद्धि से वानणद्धिक बैंको ां द्वारा ऋण दरो ां में वृद्धि हो सकती है। इससे आम 

जनता के नलए ऋण लेना महांगा हो सकता है। अतः  वे अनधक ऋण लेने से हतोत्सानहत हो सकते हैं। 

पररणामस्वरूप, अथाव्यवस्था में समग्र माांग में नगरावट आ सकती है, नजसके फलस्वरूप 

अथाव्यवस्था में मुद्रास्फीनत ननर्ांनत्रत हो सकती है।     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

1 ½  

 

 

 

1 ½  

 

 (कोई अन्य वैध नबांदु के नलए अांक नदए जाएूँ ) 4 

15. 

 
"भारतीय ररिर्व बैंक (RBI) सरकार के निए र्ही कायव करता है, ि  नक र्ानणखज्यक बैंक आम ििता के निए 

करते हैं।" 

भारत सरकार के निए केन्द्रीय बैंक िारा नकए गए ऐसे नकन्ी ों द  कायों की सोंके्षप में चचाव कीनिए। 

उत्तर. सरकार के बैंकर के रूप में, भारतीर् ररजवा बैंक (RBI) खाता रखता है, प्राद्धिर्ाूँ स्वीकार करता 

है, भुगतान करता है तथा नवननमर्, धन पे्रषण और अन्य बैंनकां ग पररचालन भी करता है। 

नवत्तीर् सांकट की द्धस्थनत में, सरकार की आवश्यकताओां को पूरा करने के नलए RBI सरकार को ऋण 

पे्रनषत देता है। अतः , भारतीर् ररजवा बैंक सरकार के नलए बैंनकां ग कार्ों को उसी प्रकार सुगम बनाता है, 

नजस प्रकार वानणद्धिक बैंक आम जनता के नलए ।   

(पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

 

 

 

 

 

4 

16. 

(क) 
 

 

 

 

करक आय र् हस्ताोंतरण आय में अोंतर स्पष्ट् कीनिए। 

उत्तर. करक आर्, उत्पादन के कारकोां द्वारा फमों को अपनी कारक सेवाएां  प्रदान करने के नलए प्राि 

होने वाली आर् है। 

जबनक; 

हस्ताांतरण आर् नकसी भी वसु्त र्ा सेवा को प्रदान नकए नबना प्राि होने वाली एकपक्षीर् आर् है । 

 

1 + ½ 

 

 

 

1 + ½ 
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(ख) बाह्यताओों क  िकारात्मक अथर्ा सकारात्मक रूप में र्गीकृत नकया िा सकता है, परनु्त यह आर्श्यक िही ों 

है नक सकि घरेिू उत्पाद से इिका सीिा सोंबोंि ह ।" 

क्या आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में रै्ि कारण दीनिए। 

उत्तर. हाूँ, बाह्यताओां  का सकल घरेलू उत्पाद (GDP) से प्रत्यक्ष सांबांध आवश्यक नही ां है, क्ोांनक बाह्य 

कारकोां का कोई बाजार नही ां होता है जहाूँ उन्हें खरीदा /बेचा जा सके। GDP, तृतीर् पक्ष पर होने वाले 

ऐसे नकसी भी नकारात्मक / सकारात्मक प्रभाव को ध्यान में नही ां रखता है क्ोांनक उन्हें इनसे होने वाली 

हानन / लाभ के नलए दांनडत / भुगतान नही ां नकर्ा जाता । अतः , र्ह अथाव्यवस्था के वास्तनवक कल्याण 

का अनधक / कम आकलन कर सकता है।  

 

 

 

 

3 

 

 

   (पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 6 

17. 

(क) 

(i) 

 

 

 

 

 

 

(ii) 

 

 

केन्द्रीय बिट 2023-24 में सूक्ष्म, िघु र् मध्यम उद्यम (MSME) मोंत्रािय क  ₹22,138 कर ड़ के आर्ोंटि का 

प्रस्तार् नकया गया था।" 

उस उदे्दश्य की पहचाि र् व्याख्या कीनिए, निसे सरकार प्रस्तानर्त व्यय के साथ प्राप्त करिे का प्रयास कर 

रही है। 

उत्तर. उपरोि कथन में सरकारी बजट के 'आबांटन कार्ा' उदे्दश को इांनगत नकर्ा गर्ा है। 

सूक्ष्म, लघु एिं मध्यम उद्यम (MSME) मंत्रालय को 22,138 करोड़ रुपये के प्रस्तावित आिंटन से सरकार 

रािर ीय उत्पादन और रोजगार के अिसरो ंमें वृद्धि करना तर्ा सामावजक-आवर्थक लक्ष्ो ंको प्राप्त करने 

का प्रर्ास कर सकती है। भारत जैसे देश में, रािर  के समग्र विकास के वलए ऐसे कदम फलदायी हैं।     

 

रािक षीय घाटे र् रािस्व घाटे की गणिा करिे के निए प्रयुक्त सूत्र ों का उले्लि कीनिए।  

उत्तर. राजकोषीय घाटा = कुल व्यय – ऋण ग्रहण को छोड़कर कुल प्राप्तप्तर्ाूँ  

राजस्व घाटा = राजस्व व्यय – राजस्व प्राप्तप्तर्ाूँ 

 

 

 

 

1 

 

3 

 

 

 

 

1 

1 

 अथवा 6 

(ख) 

(i) 

 

 

 

 

 

 

(ii) 

 

"कर रािस्व, रािस्व प्राखप्तय ों का एक महत्त्वपूणव घटक है तथा इसे द  शे्रनणय ों में र्गीकृत नकया िा सकता है।" 

माि िीनिए नक आप भारत सरकार के रािस्व नर्भाग के सदस्य हैं। कर ों की द  शे्रनणय ों क  पहचाििे एर्ों 

उिके बीच अोंतर करिे में अपिे नमत्र की सहायता कीनिए। 

उत्तर. करो ंकी दो शे्रवियां हैं: प्रत्यि कर व अप्रत्यि कर। 

प्रत्यि कर िे कर हैं, वजनका प्रभाि और भार एक ही इकाई पर पड़ता है l 

ज वक; 

अप्रत्यि कर िे कर हैं, वजनका प्रभाि और भार पृथक इकाइर्ो ां पर पड़ सकता है।  

      

बिट के तीि प्रकार – घाटे का बिट, अनिशेष बिट र् सोंतुनित बिट, ह  सकते हैं l  

क्या आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में रै्ि कारण दीनिए। 

उत्तर. हााँ, बजट तीन प्रकार का हो सकता है: घाटे का बजट, अनधशेष बजट अथवा सांतुनलत बजट क्ोवंक 

यह कुल  जट व्यय और प्राप्तप्तयो ंपर वनभथर करता है।  

सांतुलन बजट: जब सरकार की कुल प्राद्धिर्ाूँ उसके कुल व्यर् के बराबर होती हैं।  

अनधशेष बजट: जब सरकार की कुल प्राद्धिर्ाूँ उसके कुल व्यर् से अनधक होती हैं।  

घाटे का बजट: जब सरकार की कुल प्राद्धिर्ाूँ उसके कुल व्यर् से कम होती हैं। 

                                                                                    (पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

 

 

 

1 

1 

 

1 
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  6 

खण्ड ख 

(भारतीर् आनथाक नवकास) 

18. __________क  कृनष उत्पादि से नर्नर्िीकरण के रै्कखल्पक स्र त के रूप में र्गीकृत नकया िा सकता है। 

(ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए।) 

(A) हररत क्राोंनत      (B) बागर्ािी 

(C) िैनर्क कृनष      (D) परोंपरागत कृनष 

उत्तर. (B) बागवानी 

 

 

 

 

1 

19. निम्ननिखित कथि ों क  पनढए - अनभकथि (A) और कारण (R)। िीचे नदए गए नर्कल्प ों में से सही नर्कल्प चुनिए: 

अनभकथि (A) : मािर् पूाँिी का बािार में व्यापार िही ों नकया िा सकता, िबनक इसकी सेर्ाओों का व्यापार 

नकया िा सकता है। 

कारण (R) : मािय पूाँिी अमूतव प्रकृनत की ह ती है। 
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नर्कल्प: 

(A) अनभकथि (A) और कारण (R) द ि ों सत्य हैं, और कारण (R), अनभकथि (A) की सही व्याख्या करता है। 

(B) अनभकथि (A) और कारण (R) द ि ों सत्य है, िेनकि कारण (R), अनभकथि (A) की सही व्याख्या नही ां 

करता है। 

(C) अनभकथि (A) सत्य है, िेनकि कारण (R) असत्य है। 

(D) अनभकथि (A) असत्य है, िेनकि कारण (R) सत्य है। 

उत्तर. (A) अनभकथन (A) और कारण (R) दोनो ां सत्य हैं, और कारण (R), अनभकथन (A) की सही 

व्याख्या करता है। 

 

 

 

 

 

 

1 

20. चीि में िागू नकए गए _________उपाय से ििसोंख्या के साथ-साथ निोंगािुपात में भी नगरार्ट आई थी। 

(ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) पूाँिीगत र्सु्तओों के राष्ट्र ीयकरण (Nationalisation) 

(B) पूाँिीगत र्सु्तओों के नर्राष्ट्र ीयकरण (Denationalisation) 

(C) एकि-सोंताि िीनत 

(D) नि-सोंताि िीनत 

उत्तर. (C) एकल-सांतान नीनत 

 

 

 

 

 

 

1 

21. भारत, चीि र् पानकस्ताि में से __________भौग निक दृनष्ट् से सबसे बड़ा राष्ट्र  है, तथा इि तीि राष्ट्र  ों में इसका 

घित्व सबसे _________है।                (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) चीि, अनिक      (B) पानकस्ताि, कम 

(C) भारत, कम      (D) चीि, कम 

उत्तर. (D) चीन, कम 

 

 

 

 

1 

22. निम्ननिखित कथि ों का ध्यािपूर्वक अध्ययि कीनिए : 

कथि 1 : औपनिरे्नशक सरकार िारा भारतीय कृनष का व्यर्सायीकरण बिपूर्वक दमिकारी रूप में प्रारोंभ 

नकया गया था। 

कथि 2 : िाद्य फसि ों के उत्पादि क  िागू करिे के पीछे अोंगे्रि ों के द हरे उदे्दश्य थे। 

नदए गए कथि ों के आि क में, निम्ननिखित में से सही नर्कल्प का चयि कीनिए: 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 द ि ों सत्य हैं। 

(D) कथि 1 और 2 द ि ों असत्य हैं। 

उत्तर. (A) कथन 1 सत्य है और कथन 2 असत्य है। 

 

 

 

 

 

 

 

 

 

1 

23. 1965 में, माओ िे ________ का प्रारोंभ नकया, निसके अोंतगवत छात्र ों र् पेशेर्र ों क  ग्रामीण के्षत्र ों में काम करिे 

तथा सीििे के निए भेिा गया था।        (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) गे्रट िीप फॉरर्डव अनभयाि 

(B) कमू्यि प्रणािी 

(C) महाि सर्वहारा साोंसृ्कनतक क्राोंनत 

(D) मध्यकानिक नर्कास य ििा 

उत्तर. (C) महान सवाहारा साांसृ्कनतक क्राांनत 

 

 

 

 

 

 

1 

24. अोंगे्रि ों िे भारत के आयात-नियावत पर एकानिकारी नियोंत्रण बिाए रिा था, िबनक कुछ अन्य देश ों िैसे नक 

_____ के साथ शेष की अिुमनत थी।            (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(i) चीि 

(ii) नसि ि (श्री िोंका) 

(iii) पनशवया (ईराि) 

नर्कल्प: 

(A) केर्ि (i)      (B) (i) और (ii) 

(C) (ii) और (iii)      (D) (i), (ii) और (iii) 

उत्तर. (D) (i), (ii) और (iii) 

 

 

 

 

 

 

 

 

1 

25. उस रै्कखल्पक नर्पणि चैिि की पहचाि कीनिए ि  मुख्यतः  पोंिाब, हररयाणा र् रािस्थाि में सोंचानित ह ते 

हैं।                                                                 (सही नर्कल्प का चयि कीनिए) 

(A) अपिी मोंडी 

(B) हड़पसार मोंडी 
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(C) रायथू बािार 

(D) उझार्र सोंिाई 

उत्तर. (A) अपनी मांडी 

 

 

1 

26. निम्ननिखित में से सही कथि की पहचाि कीनिए: 

(A) स्वतोंत्रता उपराोंत, भारत िे समािर्ादी अथवव्यर्स्था अपिाई थी। 

(B) भारतीय आनथवक निय िि क  पोंचर्षीय य ििाओों के माध्यम से िागू नकया गया था। 

(C) भारत सरकार िारा औद्य नगक के्षत्र के अोंतगवत भूनम सुिार ों क  िागू नकया गया था। 

(D) भारत में सकि घरेिू उत्पाद (GDP) में नगरार्ट के निए औद्य नगक के्षत्र में िीनतगत पहि निमे्मदार थे। 

उत्तर. (B) भारतीर् आनथाक ननर्ोजन को पांचवषीर् र्ोजनाओां के माध्यम से लागू नकर्ा गर्ा था। 

 

 

 

 

 

1 

27. 1978 में चीि में प्रारोंभ नकए गए आनथवक सुिार ों के अोंतगवत, नर्देशी निरे्शक ों क  आकनषवत करिे के निए 

________ की स्थापिा की गई थी।     (ररक्त स्थाि क  भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) पे्रषण के्षत्र ों      (B) भूनम के्षत्र ों 

(C) नर्शेष कमू्यि के्षत्र ों     (D) नर्शेष आनथवक के्षत्र ों 

उत्तर. (D) नवशेष आनथाक के्षत्रो ां 

 

 

 

 

1 

28. 

(क) 

 

"हररत क्राोंनत िे भारत क  िाद्यान्न में आत्मनिभवर बिा नदया है, परनु्त पाररखस्थनतक (ecological) आिार पर 

इसकी आि चिा की गई है।" 

क्या आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में रै्ि कारण प्रसु्तत कीनिए। 

उत्तर. हाूँ, भारत में हररत क्राांनत ने कृनष उत्पादन और उत्पादकता में वृद्धि की थी l उच्च पैदावार वाले 

(HYV) बीजोां, रासार्ननक उवारकोां, कीटनाशकोां आनद के उपर्ोग से खाद्यान्नो ां में आत्मननभारता आई। 

इन रासार्ननक उवारकोां और कीटनाशकोां के कारण मृदा क्षरण/ खाद्य उत्पादो ां और नवनभन्न जल 

ननकार्ो ां  का सांदूषण हुआ। इस प्रकार, र्द्यनप हररत क्राांनत ने भारत को खाद्यान्न उत्पादन में आत्मननभार 

बना नदर्ा, नकनु्त पाररद्धस्थनतक आधार पर इसकी आलोचना की गई। 

(पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

 

 

 

 

3 

 

(ख) 

 

अथवा 

भारत में औपनिरे्नशक सरकार िारा नर्कनसत की गई आिारभूत सोंरचिा की नकन्ी ों तीि गनतनर्निय ों का 

उले्लि कीनिए। 

उत्तर. भारत में औपननवेनशक सरकार द्वारा की गई तीन अवसांरचनात्मक नवकास गनतनवनधर्ाूँ इस प्रकार 

थी ां:  

• रेलवे की स्थापना  

• अांतदेशीर् व्यापार और समुद्री मागों का नवकास  

• तार व्यवस्था की स्थापना  

 

 

 

 

 

1 

1 

1 

                                                            (कोई अन्य वैध नबांदु के नलए अांक नदए जाएूँ ) 3 

29. नदए गए नचत्र में दशावई गई पररखस्थनत की पहचाि कीनिए तथा इस समस्या पर नियोंत्रण पािे के निए नकसी एक 

प्रभार्ी रणिीनत की व्याख्या कीनिए। 

 

 

 

 

 

 

 

 

 

 

उत्तर. नदए गए नचत्र में दशााई गई द्धस्थनत ‘वैनिक उष्णता’ है। 

 वैनिक उष्णता की समस्या को प्रभावी ढांग से दूर करने की रणनीनतर्ो ां में से एक पवन ऊजाा का उपर्ोग 

है। पवन ऊजाा धारणीर् नवीकरण ऊजाा का एक लोकनप्रर् स्रोत है। नजन के्षत्रो ां में हवा की गनत आमतौर 

पर अनधक होती है, वहाां पवन चद्धिर्ाूँ पर्ाावरण पर नकसी भी प्रनतकूल प्रभाव के नबना नबजली प्रदान 

कर सकती हैं।  

(कोई अन्य वैध रणनीनत के नलए अांक नदए जाएूँ ) 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

2 
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ि ट : निम्ननिखित प्रश्न केर्ि दृनिबानधत परीक्षानथार्ो ां के निए प्रश्न सोंख्या 29 के स्थाि पर है। 

रै्नश्वक उष्णता की समस्या पर प्रभार्ी ढोंग से नियोंत्रण पािे के निए नकसी एक रणिीनत की व्याख्या कीनिए। 

उत्तर. वैनिक उष्णता की समस्या को प्रभावी ढांग से दूर करने की रणनीनतर्ो ां में से एक पवन ऊजाा शद्धि 

का उपर्ोग है। पवन ऊजाा धारणीर् नवीकरण ऊजाा का एक लोकनप्रर् स्रोत है। नजन के्षत्रो ां में हवा की 

गनत आमतौर पर अनधक होती है, वहाां पवन चद्धिर्ाूँ पर्ाावरण पर नकसी भी प्रनतकूल प्रभाव के नबना 

नबजली प्रदान कर सकती हैं।       (कोई अन्य वैध रणनीनत के नलए अांक नदए जाएूँ ) 

 

 

 

3 

 

  3 

30. 

(क) 

 

 

 

 

 

“एक सुदृढ कृनष नर्पणि प्रणािी नकसी भी राष्ट्र  की कृनष प्रणािी के निए रीढ की हड्डी का काम करती है।" 

इस नदशा में भारत सरकार िारा उठाए गए नकन्ी ों द  कदम ों क  सूचीबि कर उपयुवक्त कथि का औनचत्य 

नसि कीनिए। 

उत्तर. कृनष नवपणन में सुधार के नलए भारत सरकार द्वारा उठाए गए दो कदम हैं: 

• व्यवद्धस्थत और पारदशी नवपणन द्धस्थनतर्ो ां को बनाने के नलए सरकार द्वारा बाजारो ां का नवननर्मन। 

• सड़क, रेलवे, गोदाम आनद जैसी भौनतक आधारभूत सांरचना सुनवधाओां का प्रावधान। 

                                                                                (कोई अन्य वैध कदम के नलए अांक नदए जाएूँ ) 

 

 

 

 

2 

2 

 

 अथवा 4 

(ख) 

 

नर्गत कुछ र्षों में, भारत में परोंपरागत कृनष से प्राकृनतक/िैनर्क कृनष की ओर स्थािाोंतरण देिा गया है।" 

िैनर्क उत्पाद ों की ओर इस स्थािाोंतरण के पीछे के नकन्ी ों द  कारण ों की सोंनक्षप्त चचाव कीनिए। 

उत्तर. पारांपररक खेती से जैनवक खेती की ओर बदलाव के पीछे दो कारण हैं:  

• जैनवक रूप से उगाए गए भोजन में पारांपररक खेती के माध्यम से उत्पानदत भोजन की तुलना में अनधक 

पोषण मूल्य होता है।  

• पारांपररक खेती की तुलना में जैनवक खेती कीटनाशक मुि और पर्ाावरण की दृनि से नटकाऊ है। 

                          (कोई अन्य वैध कारण के नलए अांक नदए जाएूँ ) 

 

 

 

2 

 

2 

  4 

31. "भारत में नशक्षा के नर्नभन्न स्तर ों पर व्यय समाि अिुपात में ह ता है।" 

रै्ि कारण बताते हुए नदए गए कथि का समथवि अथर्ा िोंडि कीनिए। 

उत्तर. नदए गए कथन का खांडन नकर्ा जाता है। भारत में, कुल नशक्षा व्यर् का एक बड़ा भाग प्रारां नभक 

नशक्षा पर होता है और उच्चतर/तृतीर्क नशक्षा का भाग सबसे कम है। र्द्यनप, सरकार तृतीर्क नशक्षा 

पर कम खचा करती है, परनु्त तृतीर्क नशक्षा में 'प्रनत छात्र व्यर्' प्राथनमक नशक्षा की तुलना में अनधक 

है। इसके अनतररि, नशक्षा उपकर से प्राि राजस्व को प्रारां नभक नशक्षा पर खचा करने के नलए ननधााररत 

नकर्ा गर्ा है। साथ ही सरकार ने उच्च नशक्षा सांवधान तथा उच्च नशक्षानथार्ो ां के नलए नई ऋण र्ोजनाओां 

हेतु एक नवशाल धन रानश की घोषणा भी की है।    (पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

 

 

 

 

 

4 

32. निम्ननिखित आोंकड़ ों के आिार पर, चीि र् पानकस्ताि के निए र िगार र् उत्पादि में पररर्तवि की रूपरेिा 

प्रसु्तत कर चचाव कीनिए। 

रोजगार और GVA का के्षत्रीर् नहस्सा 2018-2019 में (%) 

नर्भाग GVA क  य गदाि कायवबि का नर्तरण 

 भारत चीि पानकस्ताि भारत चीि पानकस्ताि 

कृनष 16 7 24 43 26 41 

उद्य ग 30 41 19 25 28 24 

सेर्ाएाँ  54 52 57 32 46 35 

कुल 100 100 100 100 100 100 

स्र त: मािर् नर्कास ररप टव 2019 : एनशया और प्रशाोंत 2019 के प्रमुि सोंकेतक । 

उत्तर. नदए गरे् आांकड़े रोजगार और GVA की के्षत्रीर् नहसे्सदारी से सांबांनधत है। स्थलाकृनतक और 

जलवारु् पररद्धस्थनतर्ो ां के कारण, चीन में कृनष र्ोग्य के्षत्र, पानकस्तान की तुलना में अपेक्षाकृत कम है। 

इसनलए, चीन के GVA में कृनष के्षत्र का र्ोगदान 7% है, जो 26% कार्ाबल को रोजगार देता है, जबनक 

पानकस्तान में र्ह 24% है, जो 41% कार्ाबल को रोजगार देता है। चीन में तेजी से औद्योनगकीकरण के 

कारण, GVA में औद्योनगक के्षत्र का र्ोगदान 41% है नजसमें 28% कार्ाबल सद्धिनलत है, जबनक 

पानकस्तान में रे् आूँकड़े क्रमशः  19% और 24% हैं। 
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दोनो ां देशो ां के GVA में सेवा के्षत्र का र्ोगदान 57% और 52% है l पानकस्तान और चीन में इस के्षत्र में 

कार्ाबल में भागीदारी क्रमशः  35% और 46% है। 

                                                                                     (पूरे उत्तर को एक साथ अांनकत नकर्ा जाए) 

33. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) 

 

 

 

 

 

 

 

 

 

 

(ii) 

 

 

 

निम्ननिखित गद्य का ध्यािपूर्वक अध्ययि कीनिए: 

िुिाई 1991 के बिट के साथ राष्ट्र  क  एक बाह्य-उनु्मि बािार-आिाररत अथवव्यर्स्था की ओर अग्रसर करिे 

के पक्ष में एक स्पष्ट् पररर्तवि आया था। बिट में प्रारोंभ नकए गए व्यापाररक उदारीकरण के कदम बहुत व्यापक 

थे, हािााँनक इिकी गनत िीमी रही तथा उिमें कभी-कभी रुकार्टें भी आती रही ों थी। 

 

1991 के सुिार ों िे कुछ मध्यर्ती आयात ों र् पूाँिीगत र्सु्तओों क  छ ड़कर सभी र्सु्तओों पर आयात िाइसेंस 

क  समाप्त कर नदया था। 

 

उपभ क्ता र्सु्तएाँ , ि  नक आयात शुल्क सोंग्रह का 30% हैं, िाइसेंस के अोंतगवत रहती हैं। मात्र एक दशक उपराोंत, 

नर्श्व व्यापार सोंगठि (WTO) में भारत के व्यापाररक साझेदार ों िारा एक सफि चुिौती के पश्चात् इि र्सु्तओों 

क  भी िाइसेंस से मुक्त कर नदया गया था। 

 

र्तवमाि में, पयावर्रण/स्वास्थ्य/सुरक्षा के आिार पर अस्वीकृत कुछ र्सु्तओों क  छ ड़कर, सभी र्सु्तओों क  नबिा 

िाइसेंस या अन्य प्रनतबोंि ों के आयात नकया िा सकता है। 

 

िाइसेंस हटािे के साथ, ये आयात शुल्क दरें  आयात पर प्रभार्ी प्रनतबोंि बि गई थी ों। इसनिए, आनथवक सुिार ों 

का एक प्रमुि कायव आयात शुल्क दर ों क  कम करिा रहा है। आयात शुल्क में कटौती मुख्य रूप से गैर-कृनष, 

औद्य नगक र्सु्तओों तक ही सीनमत है। 

 

इसनिए, उदारीकरण इि र्सु्तओों पर कठ रता से िागू ह ता है। आयात शुल्क में कमी शुल्क दर ों में क्रनमक 

नगरार्ट के माध्यम से प्राप्त की गई है। आयात शुल्क बैंड की सोंख्या में कमी के माध्यम से आयात शुल्क सोंरचिा 

के एक साथ युखक्तकरण िे इस नदशा में सहायता की थी। 

 

नदए गए गद्य र् सामान्य ज्ञाि के आिार पर निम्ननिखित प्रश्न ों के उिर दीनिए: 

"1991 के बिट में प्रारोंभ नकए गए उदारीकरण सुिार अत्योंत व्यापक थे।" 

1991 के व्यापाररक सुिार ों में से नकन्ी ों द  व्यापार सुिार ों की व्याख्या करते हुए नदए गए कथि का औनचत्य 

नसि कीनिए। 

उत्तर. स्थानीर् उद्योगो ां की दक्षता को प्रोत्सानहत करने तथा आधुननक तकनीकोां को अपनाने के नलए 

1991 के बजट में व्यापक व्यापार उदारीकरण सुधारो ां की शुरुआत की गई थी। 1991 में आरांभ नकए 

गए दो व्यापार सुधार थे: 

 • पररमाणात्मक प्रनतबांधो ां की समाद्धि 

• आर्ात के नलए लाइसेंस प्रनक्रर्ा की समाद्धि ।  

                                                                                 (पूरे उत्तर को एक साथ अांनकत नकर्ा जाए)       

                                                                                        (कोई अन्य वैध नबांदु को अांक नदए जाएूँ ) 

ऐसे नकन्ी ों द  के्षत्र ों का उले्लि कीनिए नििमें आयात शुल्क में कटौती की गई थी। 

उत्तर. दो के्षत्र नजनमें आर्ात शुल्क में कटौती की गई: 

 • गैर-कृनष वसु्तएूँ  

 • औद्योनगक वसु्तएूँ            (कोई अन्य वैध नबांदु को अांक नदए जाएूँ ) 
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34. 

(क) 

(i) 

 

 

 

“िैसे-िैसे क ई अथवव्यर्स्था नर्कनसत ह ती है, रै्से-रै्से अथवव्यर्स्था में निय नित व्यखक्तय ों की सोंख्या में भी 

रृ्खि ह ती है; नफर भी 1991 के बाद से भारत इसके अपर्ाद के रूप में उभर कर सामिे आया है।" 

 क्या आप नदए गए कथि से सहमत हैं? अपिे उिर के पक्ष में रै्ि तकव  प्रसु्तत कीनिए। 

उत्तर. हाूँ, 1990 के दशक के अांत में आनथाक सुधारो ां के उपराांत, भारतीर् अथाव्यवस्था ने सकल घरेलू 

उत्पाद (GDP) की सांवृद्धि दर में तेजी से वृद्धि का अनुभव नकर्ा। नकनु्त, GDP में वृद्धि के बाद भी 
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(ii) 

 

रोजगार वृद्धि में नगरावट दजा की गई, अथाात भारत ने ‘रोजगारहीन सांवृद्धि’ की समस्या का अनुभव 

नकर्ा। भारतीर् अथाव्यवस्था रोजगार सृजन के नबना ही अनधक वसु्तओां और सेवाओां का उत्पादन करने 

में सक्षम थी। 

 

उपयुक्त उदाहरण िारा प्रच्छन्न बेर िगारी की पररभाषा दीनिए। 

उत्तर. प्रच्छन्न बेरोजगारी से तात्पर्ा ऐसी द्धस्थनत से है, जब व्यद्धि रोजगार में कार्ारत है नकनु्त उत्पादन 

में र्ोगदान नही ां दे रहा है, अथाात उसकी सीमाांत उत्पादकता शून्य है।  

उदाहरण के नलए, मान लीनजए नक चार एकड़ जमीन और दो श्रनमकोां के साथ एक नकसान 100 नवां टल 

गेहां उत्पानदत कर सकता है। तदोपराांत, र्नद वह एक और श्रनमक को रोजगार देता है, तब भी कुल 

उत्पादन अपररवनतात रहता है। इसनलए, कुल उत्पादन में अनतररि श्रनमक द्वारा नकर्ा गर्ा र्ोगदान 

शून्य है और उसे प्रच्छन्न रूप से बेरोजगार माना जा सकता है l  
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 अथवा 6 

(ख) 

(i) 

 

 

 

 

 

 

 

(ii) 

"िेहा एक बहुराष्ट्र ीय कम्पिी में नपछिे पााँच र्षों से नियनमत रूप से कायवरत है।"  

उपयुवक्त कथि में दशावए गए र िगार के प्रकार की पहचाि कर सोंके्षप में व्याख्या कीनिए।  

उत्तर. नेहा एक ननर्नमत वेतनभोगी कमाचारी है।  

जब कोई कमाचारी नकसी व्यद्धि र्ा उद्यम द्वारा ननर्ोनजत होता है और उसे ननर्नमत आधार पर उसका 

वेतन नदर्ा जाता है, तो उसे ननर्नमत वेतनभोगी कमाचारी के रूप में वगीकृत नकर्ा जा सकता है। इन 

कमाचाररर्ो ां को अपने ननर्ोिा से ननर्नमत पाररश्रनमक पाने के साथ-साथ अन्य सामानजक सुरक्षा लाभ 

पाने के का भी अनधकार होता है। 

 

उस सोंकेतक का िाम बताइए, निसका नकसी राष्ट्र  में र िगार की खस्थनत का नर्शे्लषण करिे में सामान्यतः  

उपय ग नकया िाता है। इसके महत्त्व की भी चचाव कीनिए। 

उत्तर. श्रनमक-जनसांख्या अनुपात एक ऐसा सांकेतक है नजसका उपर्ोग देश में रोजगार की द्धस्थनत का 

नवशे्लषण करने के नलए नकर्ा जाता है।  

इस अनुपात का उपर्ोग नकसी देश की वसु्तओां और सेवाओां के उत्पादन में सनक्रर् रूप से र्ोगदान देने 

वाली जनसांख्या की भागीदारी को जानने में नकर्ा जाता है। श्रनमक जनसांख्या अनुपात नजतना अनधक 

होगा, आनथाक गनतनवनधर्ो ां में लोगो ां की भागीदारी उतनी ही अनधक होगी तथा नवलोम सत्य । 
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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination(Supplementary), July 2024 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/S/3) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Guidelines). 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:- Giving more marks for an answer than assigned to it. 

● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Leaving answer or part thereof unassessed in an answer book. 
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totaled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior School Certificate Examination (Supplementary), July 2024 

ECONOMICS (Subject Code–030) 
[Paper Code: 58/S/3] 

Maximum Marks: 80 

Q. 

No. 
EXPECTED ANSWER / VALUE POINTS 

Marks 

SECTION -A 

(Macro Economics) 

1. Read the following statements carefully: 

Statement 1: Gross National Product (GNP) can be greater than Gross Domestic Product 

(GDP) in a two-sector economy. 

Statement 2: Net factor income from abroad is zero in a two-sector economy. 

In the light of the given statements, choose the correct alternative from the following: 

(A) Statement 1 is true and Statement 2 is false.  

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (B) Statement 1 is false and Statement 2 is true. 

 

 

 

 

 

 

 

 

 

1 

2. Keeping all other factors constant, trade surplus may arise in the Balance of Payments of a 

nation because of ________.           (Choose the correct alternative to fill in the blank) 

(A) rise in export of coffee to Japan 

(B) fall in import of banking services 

(C) fall in exports of cereals 

(D) rise in remittances to abroad 

Ans. (A) rise in export of coffee to Japan 

 

 

 

 

 

 

1 

3. Suppose in a hypothetical economy, the Central Bank increases the reserve ratio from 10% to 

25%. Keeping the amount of initial deposits constant at ₹ 1,000 crore, the amount of total 

money creation would be ₹_______ crore.  (Choose the correct alternative to fill in the blank) 

(A) 10,000       (B) 4,000 

(C) 6,000       (D) 5,000 

Ans. (B) 4,000 

 

 

 

 

 

1 

4. ___________ is the total volume of money held by the public, for the purpose of disposing 

off, at a particular point of time.          (Choose the correct alternative to fill in the blank)  

(A) Term deposits      (B) Demand for money 

(C) Money supply      (D) Credit creation 

Ans. (C) Money supply 

 

 

 

 

1 

5. Under _______ exchange rate system, the Central Bank and Government of the country do 

not have any authority to interfere in the exchange rate determination. 

(Choose the correct alternative to fill in the blank) 

(A) fixed       (B) floating 

(C) managed floating      (D) gold standard 

Ans. (B) floating 

 

 

 

 

 

1 

6. Read the following statements carefully: 

Statement 1: Average Propensity to Consume (APC) represents the change in total income with 

respect to a given change in total consumption. 

Statement 2: When income changes, change in consumption (∆C) can never exceed the change 

in income (∆Y). 

In the light of the given statements, choose the correct alternative from the following: 
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(A) Statement 1 is true and Statement 2 is false.  

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (B) Statement 1 is false and Statement 2 is true. 

 

 

 

 

1 

7. In an economy, break-even level of income can be determined, when _______. 

(i) Marginal Propensity to Consume (MPC) = Marginal Propensity to Save (MPS) 

(ii) Income (Y) = Consumption (C) 

(iii) Savings (S) = 0 

(iv) Average Propensity to Consume (APC) = Average Propensity to Save (APS) 

(Choose the correct alternative to fill in the blank) 

Alternatives: 

(A) Only (i) 

(B) (i) and (ii) 

(C) (ii) and (iii) 

(D) (i) and (iv) 

Ans. (C) (ii) and (iii) 

 

 

 

 

 

 

 

 

 

 

 

1 

8. For a hypothetical economy, it is known that: 

Average Propensity to Save (APS) = 0.4 

Income (Y) = ₹100 crore 

Autonomous Consumption (C) = ₹ 10 crore 

The value of investment multiplier would be __________. 

(Choose the correct alternative to fill in the blank) 

(A) 5        (B) 2 

(C) 4        (D) 10 

Ans. (B) 2 

 

 

 

 

 

 

 

 

1 

9. The ___________ account of Balance of Payments reflects the net changes in financial claims 

on the Rest of the World (ROW).          (Choose the correct alternative to fill in the blank)  

(A) Trade      (B) Capital 

(C) Current       (D) Visible 

Ans. (B) Capital  

 

 

 

 

1 

10. Identify, which of the following options exhibits the proportional relation between 

consumption and disposable income.  

(A) Marginal Propensity to Consume (MPC) /Average Propensity to Consume (APC) 

(B) Marginal Propensity to Consume (MPC) < Average Propensity to Consume (APC) 

(C) Marginal Propensity to Consume (MPC) = Average Propensity to Consume (APC) 

(D) Marginal Propensity to Consume = 1 

Ans.(C)Marginal Propensity to Consume (MPC)=Average Propensity to Consume 

(APC) 

 

 

 

 

 

 

1 

11. 

(a) 

 

 

 

 

 

 

 

 

 

 

“Devaluation of currency and depreciation of currency have the same implications, but they 

originate from divergent sources.” 

Do you agree with the given statement? Give valid reason in support of your answer. 

Ans. Yes, devaluation and depreciation of currency may lead to fall in the value of 

domestic currency in relation to foreign currency. This may result in 

promotion/reduction of exports/imports, as the domestic/foreign goods become relatively 

cheaper/costlier. Hence, both devaluation and depreciation of currency have the same 

implications. However, devaluation of currency originates due to the actions taken by the 

government while depreciation of currency is caused by the market forces of demand and 

supply.                (To be marked as a whole) 

OR 

 

 

 

 

 

3 
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(b) Outline the meaning and reasons behind narrowing down of Current Account Deficit. 

Ans. Current Account Deficit (CAD) arises when receipts from exports of goods & 

services and unilateral transfers are less than the payments for imports of goods & 

services and unilateral transfers. 

CAD may narrow down when either receipts from exports of goods and services and 

unilateral transfers increase or payments for imports of goods and services and unilateral 

transfers decrease. 

 

1 

 

 

2 

 

  3 

12. 

 

 

On the basis of the given data, estimate the value of  Net Value Added at Factor Cost (NVAFC): 

S. No. Items Amount (in ₹ crore) 

(i) Sales 2,000 

(ii) Purchase of raw material 500 

(iii) Change in stock 300 

(iv) Gross Investment 500 

(v) Net Indirect Taxes 200 

(vi) Net Investment 300 

Ans.  

Net Value Added at Factor Cost (NVAFC) = (i) + (iii) – (ii) – [(iv) – (vi)] – (v) 

                                                                       = 2,000 + 300 – 500 – [500 – 300] – 200   

                                                                       = ₹ 1,400 crore 

 

 

 

 

 

 

 

 

 

 

 

1 ½  

1 

½  

  3 

13. 

(a) 

 

 

 

 

 

 

 

 

(b) 

“When ex-ante Aggregate Demand (AD) is more than ex-ante Aggregate Supply (AS) it results 

in an accumulation of unintended inventories.” 

Defend or refute the given statement, giving valid arguments in support of your answer. 

Ans. The given statement is refuted.  

If ex-ante Aggregate Demand is more than ex-ante Aggregate Supply, it implies that 

households and firms are planning to buy more than what the firms expected them to. As 

a result, inventories with the producers will fall below the desired level, which may lead 

to unintended fall in inventories.  

(To be marked as a whole) 

OR 

Assume the following for a hypothetical economy: 

(i) Autonomous Consumption Expenditure (C) = ₹ 25 crore 

(ii) Marginal Propensity to Save (MPS) = 0.1 

(iii) Level of Income (Y) = ₹ 2,000 crore 

(iv) Autonomous Investment (I) = ₹ 25 crore 

Is the economy in equilibrium situation? Justify your answer with valid calculations. 

Ans. Given, Autonomous Consumption Expenditure (𝐂) = ₹ 25 crore 

Marginal Propensity to Save (MPS) = 0.1 

Level of Income (Y) = ₹ 2,000 crore 

Autonomous Investment (I) = ₹ 25 crore 

Marginal Propensity to Consume (MPC) = 1 - MPS  

 1 - 0.1 = 0.9 

               At equilibrium level of income, Y= C + I 

Substituting the value of Y in (C + I) 

C + I = 𝐂 + (MPC)Y + I  

          = 25 + 0.9 x 2000 + 25  

          =  1,850 crore 

Y > C + I at an income level of  2,000 crore.  

Thus, the economy is not in equilibrium at an income level of  2,000 crore. 

 

 

 

 

 

4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1  

 

1 

½  

½ 

½  

½  
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Alternative answer: 

At equilibrium level of income, S= I 

Substituting the value of Y in S 

                             S = −𝐂 + (MPS)Y  

                                       = −𝟐𝟓 + (0.1) 2000 

                                       =  175 crore 

         S > I at an income level of  2,000 crore.  

Thus, the economy is not in equilibrium at an income level of  2,000 crore. 

 

1  

 

1 

½  

½  

½  

½  

  4 

14. Study the following image: 

 

 

 

 

 

 

 

 

 

(i) Identify the indicated situation. 

(ii) Explain any two steps which may be taken by RBI to correct the situation. 

Ans.  

(i) The above image indicates the situation of inflation. 

(ii) To combat the situation of inflation, the two steps taken by the Reserve Bank of India 

(RBI) may be: 

• The Government Securities are sold by the RBI in the open market. It will reduce 

the availability of funds with commercial banks, which in turn curtails their lending 

capacity. Consequently, the money supply in the economy falls. Thereby, decreasing 

Aggregate Demand and thus reducing inflation in the economy. 

• The increase in the Bank Rate by the RBI, leads to an increase in the lending rates 

by the commercial banks. This makes borrowing costlier for the general public. 

Thereby, discouraging them from borrowing more. As a result, Aggregate Demand 

in the economy falls, consequently reducing inflation.     

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

1 ½  

 

 

 

1 ½  

 

 (Any other valid step to be awarded marks) 4 

15. 

 

“The Reserve Bank of India (RBI) performs the same function for the government as the 

commercial banks perform for the general public.”  

Discuss briefly any two such functions performed by the Central Bank for the Government of 

India. 

Ans. The Reserve Bank of India (RBI) as the banker to the government maintains 

account, accepts receipts and makes payments, carries out exchange, remittance, and 

other banking operations.  

The Reserve Bank of India advances loans to the government to meet its requirements, 

in case of financial crisis. Thus, the Reserve Bank of India facilitates the same banking 

functions for the government just as the commercial banks do for the general public.                           

(To be marked as a whole) 

 

 

 

 

 

4 

16. 

(a) 

 

 

 

 

 

 

Differentiate between factor income and transfer income. 

Ans. Factor income is the income received by the factors of production for rendering 

their factor services to the firms. It is included in the estimation of national income. 

Whereas; 

Transfer income is unilateral income received without rendering any goods and 

services. It is not included in the estimation of national income. 

 

 

1 ½ 

 

 

1 ½ 
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(b) 

 

 

 

 

 

 

 

“Externalities can be classified into negative or positive, however it is not necessary that they 

will be directly correlated with the Gross Domestic Product.” 

Do you agree with the given statement? Give valid reasons in support of your answer. 

Ans. Yes, externalities may not directly correlate with the Gross Domestic Product 

(GDP) as externalities do not have any market in which they can be bought/sold. GDP 

does not take into account any such negative/positive impact on the third-party as they 

are not penalised/paid for such harms/benefits. Consequently, it may lead to 

overestimation/underestimation of the actual welfare of the economy. 

 

 

 

 

3 

 (To be marked as a whole) 6 

17. 

(a) 

(i) 

 

 

 

 

 

 

 

(ii) 

 

 

“The Union Budget 2023 – 24 had proposed an allocation of ₹ 22,138 crore to the Micro, 

Small and Medium Enterprise (MSME) Ministry.” 

Identify and explain the objective that the government is trying to achieve with the proposed 

expenditure. 

Ans. The highlighted government budget objective is the ‘allocation function’.  

The government with the proposed allocation of ₹ 22,138 crore to the Micro, Small and 

Medium Enterprise (MSME) Ministry may seek to enhance national output and 

employment opportunities.  In a country like India, such steps are fruitful for achieving 

socio-economic goals and overall growth of the nation.     

 

State the formulae for calculating fiscal deficit and revenue deficit. 

Ans. Fiscal Deficit = Total Expenditure – Total Receipts (excluding borrowings) 

Revenue Deficit = Revenue Expenditure – Revenue Receipts 

 

 

 

 

1 

 

3 

 

 

 

 

1 

1 

 OR 6 

(b) 

(i) 

 

 

 

 

 

 

 

(ii) 

 

“Tax revenues, an important component of revenue receipts, can be further classified into two 

categories.” 

Imagine yourself as a member of Department of Revenue of the Government of India. Help 

your friend to identify and differentiate between the two categories of taxes. 

Ans. The two categories of taxes are direct taxes and indirect taxes. 

Direct taxes are those taxes whose impact and incidence lie on the same entity.  

     Whereas; 

Indirect taxes are those taxes whose impact and incidence may lie on different entities.  
 

“A budget can be deficit, surplus or balanced.” 

Do you agree with the given statement? Give valid reasons in support of your answer. 

Ans. Yes, a budget can be deficit, surplus or balanced, it depends on the total receipts 

and expenditure.  

Balance Budget: When the total receipts of the government equal its total expenditure. 

Surplus Budget: When the total receipts of the government exceed its total expenditure. 

Deficit Budget: When the total receipts of the government fall short of its total 

expenditure.              (To be marked as a whole) 

 

 

 

 

1 

1 

 

1 

 

 

 

 

 

3 

  6 

SECTION – B 

(Indian Economic Development) 

18. _________ can be classified as one of the alternative sources of diversification from farm 

output.                                                           (Choose the correct alternative to fill in the blank) 

(A) Green Revolution                                                      (B) Horticulture 

(C) Organic Farming                                                       (D) Conventional Farming 

Ans. (B) Horticulture 

 

 

 

 

1 

19. Read the following statements – Assertion (A) and Reason (R). Choose the correct alternative 

given below: 

Assertion (A): Human capital cannot be traded in the market, whereas its services can be 

traded. 

Reason (R): Human capital is intangible in nature. 
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Alternatives: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true.  

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

 

1 

20. __________ measure introduced in China led to the decline in its population as well as sex 

ratio.                                                             (Choose the correct alternative to fill in the blank) 

(A) Nationalisation of capital goods 

(B) Denationalisation of capital goods 

(C) One-child norm 

(D) Two-child norm 

Ans. (C) One-child norm 

 

 

 

 

 

 

1 

21. ___________ is geographically the largest nation among India, China and Pakistan and its 

density is _______ among the three nations.            (Choose the correct alternative to fill in the blanks) 

(A) China, highest                                                              (B) Pakistan, lowest 

(C) India, lowest                                                                 (D) China, lowest 

Ans. (D) China, lowest 

 

 

 

 

1 

22. Read the following statements carefully : 

Statement 1: The commercialisation of Indian agriculture was coercively introduced by the 

colonial government. 

Statement 2: Britishers had a two-fold motive behind the enforcement of food crops 

production. 

In the light of the given statements, choose the correct alternative from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (A) Statement 1 is true and Statement 2 is false. 

 

 

 

 

 

 

 

 

 

 

1 

23. In 1965, Mao introduced the ____________ under which students and professionals were sent 

to work and learn from the countryside.      (Choose the correct alternative to fill in the blank) 

(A) Great Leap Forward Campaign 

(B) Commune System 

(C) Great Proletarian Cultural Revolution 

(D) Medium Term Development Plan 

Ans.  (C) Great Proletarian Cultural Revolution 

 

 

 

 

 

 

1 

24. Britain maintained a monopoly control over India’s exports and imports while the rest was 

allowed with a few other countries like_________. 

 (Choose the correct alternative to fill in the blank) 

(i) China 

(ii) Ceylon (Sri Lanka) 

(iii) Persia (Iran) 

Alternatives: 

(A) Only (i)                                                           (B) (i) and (ii) 

(C) (ii) and (iii)                                                     (D) (i), (ii) and (iii) 

Ans. (D)  (i), (ii) and (iii)  

 

 

 

 

 

 

 

 

 

1 

25. Identify the alternate marketing channel that operates majorly in Punjab, Haryana and 

Rajasthan.                                                                                    (Choose the correct alternative) 

(A) Apni Mandi 

(B) Hadapsar Mandi 
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(C) Rythu Bazars 

(D) Uzhavar Sandies  

Ans. (A) Apni Mandi 

 

 

1 

26. Identify the correct statement from the following: 

(A) India adopted the socialistic economic system after Independence. 

(B) Indian economic planning was implemented through Five Year Plans. 

(C) Land reforms under industrial sector were implemented by the Government of India. 

(D) Policy initiatives in the industrial sector were responsible for decline in Gross Domestic 

Product (GDP) in India.  

Ans. (B) Indian economic planning was implemented through Five Year Plans. 

 

 

 

 

 

 

1 

27. Under the economic reforms introduced in China in 1978, ______ were set up to attract 

foreign investors.                                        (Choose the correct alternative to fill in the blank)  

(A) Remittance Zones                                                      (B) Land Zones 

(C) Special Commune Zones                                           (D) Special Economic Zones 

Ans. (D) Special Economic Zones 

 

 

 

 

1 

28. 

(a) 

“Green Revolution made India self-sufficient in food grains, but was criticized on ecological 

grounds.” 

Do you agree with the given statement? Present valid reasons in support of your answer. 

Ans. Yes, Green Revolution in India increased agricultural production and productivity 

leading to self-sufficiency of food grains through the use of HYV seeds, chemical 

fertilisers, pesticides, etc. These chemical fertilisers and pesticides led to soil degradation/ 

contamination of food products and various water bodies. 

Thus, although Green Revolution made India self-sufficient in food grain production but 

was criticised on ecological grounds.           (To be marked as a whole)                                                   

 

 

 

 

3 

 

(b) 

 

OR 

Enumerate any three infrastructural development activities undertaken by the colonial 

government in India. 

Ans. Three infrastructural development activities undertaken by the colonial 

government in India were as follows: 

• Introduction of railways 

• Development of inland trade and sea lanes 

• Introduction of electric telegraph        

 

 

 

 

 

1 

1 

1 

 (Any other valid point to be awarded marks) 3 

29. Identify the situation depicted in the given figure and explain any one strategy to effectively 

overcome the problem. 

 

 

 

 

 

 

 

 

 

 

 

 

Ans. The situation depicted in the given figure is ‘Global Warming’. 

One of the strategies to effectively overcome the problem of Global Warming is the usage 

of wind energy. Wind power is a popular source of sustainable renewable energy. In the 

areas where speed of wind is usually high, wind mills can provide electricity without any 

adverse impact on environment.           (Any other valid strategy to be awarded marks) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

2 

 

 



XII_030_58/S/3_Economics_2024 # Page-10 

 

Note:The following question is for the Visually Impaired Candidates only in lieu of Q. No. 

29. 

Explain any one strategy to effectively overcome the problem of global warming. 

Ans. One of the strategies to effectively overcome the problem of Global Warming is the 

usage of wind energy. Wind power is a popular source of sustainable renewable energy. 

In the areas where speed of wind is usually high, windmills can provide electricity 

without any adverse impact on the environment.  

 

 

 

3 

 (Any other valid strategy to be awarded marks) 3 

30. 

(a) 

 

 

 

 

 

“A sound agricultural marketing system works as the backbone of any agro-system of any 

nation.” 

Justify the above statement by listing any two steps taken by the Indian government in this 

direction. 

Ans. Two steps taken by the Indian government to improve agricultural marketing are: 

• Regulation of markets by the government to create orderly and transparent 

marketing conditions. 

• Provision of physical infrastructure facilities like roads, railways, warehouses etc. 

     (Any other valid step to be awarded marks) 

 

 

 

 

 

2 

 

2 

 

 OR 4 

(b) 

 

‘‘Over the past few years, India has witnessed a shift from traditional conventional farming to 

natural/organic farming.’’ 

Discuss briefly any two reasons behind this shift towards organic produce.  

Ans. Two reasons behind the shift from traditional conventional farming to organic 

farming: 

• Organically grown food has more nutritional value than the food produced 

through conventional farming. 

• Organic farming in comparison to traditional conventional farming is pesticide-

free and environmentally sustainable. 

 

 

 

 

 

2 

 

2 

 (Any other valid reason to be awarded marks) 4 

31. “Expenditure on different levels of education in India is in the same proportion.” 

Defend or refute the given statement, giving valid reasons. 

Ans. The given statement is refuted. In India, elementary education takes a major share 

of total education expenditure and the share of the higher/tertiary education is the least. 

Though, on an average, the government spends less on tertiary education, ‘expenditure 

per student’ in tertiary education is higher than that of elementary. Moreover, the 

revenues from education cess have been earmarked for spending on elementary 

education. In addition to this, the government sanctions a large outlay for the promotion 

of higher education and new loan schemes for students to pursue higher education. 
(To be marked as a whole) 

 

 

 

 

 

4 

32. On the basis of the data given below, outline and discuss the shift in employment and output 

for China and Pakistan: 

Sectoral Share of Employment and GVA (%) in 2018 –2019 

 
Source: Human Development Report 2019: Key Indicators of Asia and Pacific 2019. 

Ans.  The given data pertains to the sectoral share of employment and Gross Value 

Added (GVA). Due to topographic and climatic conditions, the cultivable area in China 
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is relatively smaller than that of Pakistan. Hence, the contribution of the agricultural 

sector to the GVA in China is 7% employing 26% of its workforce, whereas in Pakistan 

it is 24% employing 41% of its workforce. Owing to rapid industrialisation in China, the 

contribution of the industrial sector to GVA stands at 41% with 28% of the workforce 

as against corresponding figures of 19% and 24% in Pakistan.  

The contribution of the Service sector stands at 57% and 52% to GVA with 

corresponding 35% and 46% to the workforce, respectively in Pakistan and China.                                                                                         

(To be marked as a whole) 

4 

33. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) 

 

 

 

 

 

 

 

 

 

(ii) 

 

 

Read the following text carefully: 

With the July 1991 budget, there was a clear switch in favour of a move towards an outward-

oriented, market-based economy. The liberalisation steps initiated in the budget were very 

comprehensive although the pace remained gradual and there were occasional hiccups. 

 

The 1991 reforms did away with import licensing on all but a handful of intermediate inputs 

and capital goods.  

 

Consumer goods, accounting for approximately 30% of tariff lines, remained under licensing, 

only a decade later, after a successful challenge by India’s trading partners at the World Trade 

Organisation (WTO), were these goods freed of licensing. 

 

Today, except for a handful of goods that are disallowed on environmental/health/safety 

grounds, all goods may be imported without a license or other restrictions. 

 

With the removal of licensing, the tariff rates became effective restrictions on imports. 

Therefore, a major task of the reforms has been to lower the tariff rates. Tariff reductions have 

been mainly confined to non-agricultural, industrial goods. 

 

Therefore, the liberalization applies strictly to these goods. The reduction in tariffs has been 

achieved through a gradual compression of the tariff rates. A simultaneous rationalization of 

the tariff structure through a reduction in the number of tariff bands helped in this direction. 

 

On the basis of the given text and common understanding, answer the following questions: 

 

“The trade liberalization reforms initiated in 1991 budget were very comprehensive.” 

Justify the given statement explaining any two trade reforms introduced in 1991. 

Ans.  The comprehensive trade liberalization reforms were initiated in 1991 budget to 

promote the efficiency of local industries and adoption of modern technologies.  

Two trade reforms introduced in 1991 were: 

• dismantling of quantitative restrictions on imports and exports. 

• removal of licensing procedures for imports. 

(To be marked as a whole) 

(Any other valid point to be awarded marks) 

  

State any two areas in which tariff reductions were introduced. 

Ans. Two areas in which tariff reductions were introduced: 

• non-agricultural goods 

• industrial goods    

(Any other valid point to be awarded marks) 
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1 
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34. 

(a) 

(i) 

 

“As an economy grows, the number of employed persons in an economy also increases; 

however, since 1991 India has come up as an exception to this.’’ 

Do you agree with the given statement? Give valid arguments in support of your answer. 

 

 

 

 



XII_030_58/S/3_Economics_2024 # Page-12 

 

 

 

 

 

 

 

(ii) 

 

Ans. Yes, after the introduction of economic reforms, in the late 1990s, the Indian 

economy experienced a rapid rise in the GDP growth rate. However, employment 

growth started declining, in spite of rising GDP i.e., India started experiencing the 

problem of Jobless Growth. The Indian economy was able to produce more goods and 

services without a corresponding rise in the number of employed persons. 

  

Define disguised unemployment with a suitable example. 

Ans.   Disguised unemployment refers to a situation when the person seems to be 

employed but is not contributing to the output i.e., his marginal productivity is zero.                                                                                    

For example, suppose a farmer with four acres of land and two workers can produce 100 

quintals of wheat. Even if he employs one more worker, the total output remains 

unchanged. Hence, the contribution made by the additional worker to the total output is 

zero and thus can be said to be in a situation of disguised unemployment.  

4 

 

 

 

 

 

 

1 

 

1 

 

 OR 6 

(b) 

(i) 

 

 

 

 

 

 

 

 

(ii) 

“Neha has been working in a multinational corporation since the past five years on the payroll 

of the company”. 

Identify and briefly explain the type of employment indicated in the above statement. 

Ans.  Neha is a regular salaried employee.  

When a worker is engaged by someone or an enterprise and paid his or her wages on a 

regular basis, they can be categorized as regular salaried employees. Such employees are 

entitled to receive regular compensation from their employer along with other social 

security benefits.                                                                                

 

Name the indicator that is generally used for analysing the employment situation in a country. 

Also discuss its importance. 

Worker-population ratio is an indicator which is used for analysing the employment 

situation in the country. 

This ratio is useful in knowing the proportion of population that is actively contributing 

to the production of goods and services of a country. Higher the worker population ratio, 

higher the engagement of people in economic activities and vice versa. 

 

 

 

1 

 

2 
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2 
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* * * 
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